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Question Id : 92090612357 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about elimate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. Howewver, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support. community outreach, and
public engagement.

Media ecoverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090612358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090648801. 1
92090648802. 2
92090648803. 3
92090648804. 4

Question Number : 2 Question Id : 92090612359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090648805. 1
92090648806. 2
92090648807. 3
92090648808. 4

Question Number : 3 Question Id : 92090612360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
92090648809. 1
92090648810. 2
92090648811. 3
92090648812. 4

Question Number : 4 Question Id : 92090612361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090648813. 1
92090648814. 2
92090648815. 3
92090648816. 4

Question Number : 5 Question Id : 92090612362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090648817. 1
92090648818. 2
92090648819. 3
92090648820. 4



Question Id : 92090612357 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about elimate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. Howewver, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support. community outreach, and
public engagement.

Media ecoverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090612358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090648801. 1
92090648802. 2
92090648803. 3
92090648804. 4

Question Number : 2 Question Id : 92090612359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090648805. 1
92090648806. 2
92090648807. 3
92090648808. 4

Question Number : 3 Question Id : 92090612360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
92090648809. 1
92090648810. 2
92090648811. 3
92090648812. 4

Question Number : 4 Question Id : 92090612361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090648813. 1
92090648814. 2
92090648815. 3
92090648816. 4

Question Number : 5 Question Id : 92090612362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090648817. 1
92090648818. 2
92090648819. 3
92090648820. 4



Question Id : 92090612357 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about elimate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. Howewver, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support. community outreach, and
public engagement.

Media ecoverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090612358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090648801. 1
92090648802. 2
92090648803. 3
92090648804. 4

Question Number : 2 Question Id : 92090612359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090648805. 1
92090648806. 2
92090648807. 3
92090648808. 4

Question Number : 3 Question Id : 92090612360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
92090648809. 1
92090648810. 2
92090648811. 3
92090648812. 4

Question Number : 4 Question Id : 92090612361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090648813. 1
92090648814. 2
92090648815. 3
92090648816. 4

Question Number : 5 Question Id : 92090612362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090648817. 1
92090648818. 2
92090648819. 3
92090648820. 4

Sub-Section Number : 2
Sub-Section Id : 920906405



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090612363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the blanks in List | with the appropriate phrasal verb in List 11 :

Liat 1 List II

(A) Students usually speak (D) fell-out
French during class by
occasionally English.

(B) The English professor (L) lapse into
wanted t - the
importance of additional
reading to his students

(C) Capital punishment (I1l) done away with
was___ several years ago
in Britain.

Dy 1 with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(ID), (C)-(D). (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(111)
(3) (A1), (B)-(AV), (C)-(11), (D)-(111)
(4)  (A)-(1D), (B)-(IV), (C)-(111), (D)-(D)

Options :

92090648821. 1
92090648822. 2
92090648823. 3
92090648824. 4

Question Number : 6 Question Id : 92090612363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the blanks in List | with the appropriate phrasal verb in List 11 :

List [ List II

(A) Students wusually speak (I) fell-out
French during class by
occasionally English.

(B) The English professor (lI) lapse into
wanted to _ the

importance of additional
reading to his students

(C) Capital punishment (IlI) done away with
was___ several years ago
in Britain.

) | with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(1I), (C)-(D), (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(1LI)
(3  (A)-D, (B)-(IV), (C)-(1D), (D)-(11D)
(4)  (A)-(D), (B)-(IV), (C)-(111), (D)-(I)

Options :

92090648821. 1
92090648822. 2
92090648823. 3
92090648824. 4

Question Number : 6 Question Id : 92090612363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the blanks in List | with the appropriate phrasal verb in List 11 :

List [ List II

(A) Students wusually speak (I) fell-out
French during class by
occasionally English.

(B) The English professor (lI) lapse into
wanted to _ the

importance of additional
reading to his students

(C) Capital punishment (IlI) done away with
was___ several years ago
in Britain.

) | with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(111), (B)-(1I), (C)-(I), (D)-(IV)
(Z) (A)-(11). (B)-(IV). (C)-(I), (D)-(111)
(3) (A)-(D), (B)-(IV), (C)-(11), (D)-(111)
(4) (A)-(11), (B)-(1V), (C)-(11I), (D)-(I)

Options :

92090648821. 1
92090648822. 2
92090648823. 3
92090648824. 4

Question Number : 7 Question Id : 92090612364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3)  IDIOSYNCRASY (4) IDAOOSYNCRASY

Options :

92090648825. 1
92090648826. 2
92090648827. 3
92090648828. 4

Question Number : 7 Question Id : 92090612364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (1) IDAOOSYNCRASY

Options :

92090648825. 1
92090648826. 2
92090648827. 3
92090648828. 4

Question Number : 7 Question Id : 92090612364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (4) IDAOOSYNCRASY

Options :

92090648825. 1
92090648826. 2
92090648827. 3
92090648828. 4

Question Number : 8 Question Id : 92090612365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia ___ an
accused _ a ease concerning irregularities in the excise policy for the first time.
(1) in, on, as, in (2} in, with, as, in

(3) in, on, with, for {(4) in, on, in, as

Options :

92090648829.
92090648830.
92090648831.
92090648832.

N O R O R

Question Number : 8 Question Id : 92090612365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia ___ an
accused __ a case concerning irregularities in the excise policy for the first time.

(1) in, on, as, in (2) in, with, as, in
(3) in, on, with, for (4) in, on, in, as
Options :

92090648829. 1
92090648830. 2
92090648831. 3
92090648832. 4

Question Number : 8 Question Id : 92090612365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet ___ the case _ May 4 and named Sisodia ___ an
accused __ a case concerning irregularities in the excise policy for the first time.
(1) in, on, as, in (2) in, with, as, in

(3 in, on, with, for (4) in, on, in, as

Options :

92090648829. 1
92090648830. 2
92090648831. 3
92090648832. 4

Question Number : 9 Question Id : 92090612366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology

Options :

92090648833. 1
92090648834. 2
92090648835. 3
92090648836. 4



Question Number : 9 Question Id : 92090612366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology
Options :

92090648833. 1
92090648834. 2
92090648835. 3
92090648836. 4

Question Number : 9 Question Id : 92090612366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology

Options :

92090648833. 1
92090648834. 2
92090648835. 3
92090648836. 4

Question Number : 10 Question Id : 92090612367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word "TRAIT is ;

(1) Symbol (2) Characteristic
(3) Colour (4)  Habit

Options :

92090648837. 1
92090648838. 2
92090648839. 3
92090648840. 4



Question Number : 10 Question Id : 92090612367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Svnonym of the word "TEAIT is :

(1) Symbol (2) Characteristic
(3) Colour (4) Habit
Options :

92090648837. 1
92090648838. 2
92090648839. 3
92090648840. 4

Question Number : 10 Question Id : 92090612367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Syvnonym of the word "TRAIT is :

(1) Symbol (2) Characteristic
(3) Colour (4)  Habit

Options :

92090648837. 1
92090648838. 2
92090648839. 3
92090648840. 4

Question Number : 11 Question Id : 92090612368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos @ =1—n , then find the value of cot 8:

[
| n

J

(1) (2)

[
Lh
(SN

]

(3) (4)

|
(7 =

Options :
92090648841. 1
92090648842. 2



92090648843. 3
92090648844. 4

Question Number : 11 Question Id : 92090612368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =l_ﬂ . then find the value of cot 8:

t

]m

(1)

=
]
e

-

(]
Lh
(S8

(3) (4)

]
Lh | an

|

Options :

92090648841. 1
92090648842. 2
92090648843. 3
92090648844. 4

Question Number : 11 Question Id : 92090612368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =l_ﬂ . then find the value of cot 8:

t

]m

(1)

-

[ I
Lh

.

el

e
]

]

(3) (4)

|
Lh | an

Options :

92090648841. 1
92090648842. 2
92090648843. 3
92090648844. 4

Question Number : 12 Question Id : 92090612369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 2) 24
(3) 30 (4) 33
Options :

92090648845. 1
92090648846. 2
92090648847. 3
92090648848. 4

Question Number : 12 Question Id : 92090612369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 (2) 24
(3 30 (4) 33
Options :

92090648845. 1
92090648846. 2
92090648847. 3
92090648848. 4

Question Number : 12 Question Id : 92090612369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 2y 24
(3 30 (4) 33
Options :

92090648845. 1
92090648846. 2
92090648847. 3
92090648848. 4

Question Number : 13 Question Id : 92090612370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 (2) 15

(3) 16 (4) 20

Options :

92090648849. 1
92090648850. 2
92090648851. 3
92090648852. 4

Question Number : 13 Question Id : 92090612370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.
(1) 12.5 2) 15
(3) 16 (4) 20

Options :

92090648849. 1
92090648850. 2
92090648851. 3
92090648852. 4

Question Number : 13 Question Id : 92090612370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ananva bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 2y 15
(3) 16 {4y 20
Options :

92090648849. 1
92090648850. 2
92090648851. 3
92090648852. 4

Question Number : 14 Question Id : 92090612371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A cone of height at 24 em and base radius 6 em is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1ecm (2) 2em
(3) 6 cm (4) Bem
Options :

92090648853. 1
92090648854. 2
92090648855. 3
92090648856. 4

Question Number : 14 Question Id : 92090612371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 cm is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2em
(3) 6 cm {4) 8Becm
Options :

92090648853. 1
92090648854. 2
92090648855. 3
92090648856. 4

Question Number : 14 Question Id : 92090612371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 em is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2em
(3) 6 ecm (4) Scm

Options :

92090648853. 1
92090648854. 2
92090648855. 3
92090648856. 4

Question Number : 15 Question Id : 92090612372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A sum of % 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 vears is equal to the interest on the other part at 9%
p.a. for 6 vears. Find the smaller part of the sums lent in two parts.

(1) T 2,400 (2) 5,000
(3) ¥5.300 (4 2700

Options :

92090648857. 1
92090648858. 2
92090648859. 3
92090648860. 4

Question Number : 15 Question Id : 92090612372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of % 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 vears is equal to the interest on the other part at 9%
p.a. for 6 vears. Find the smaller part of the sums lent in two parts.

(1) T 2,400 (2) 5,000
(3) ¥5.300 (4 2700

Options :

92090648857. 1
92090648858. 2
92090648859. 3
92090648860. 4

Question Number : 15 Question Id : 92090612372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of % 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 vears is equal to the interest on the other part at 9%
p.a. for 6 vears. Find the smaller part of the sums lent in two parts.

(1) T 2,400 {2y ¥ 5,000

(3) % 5,300 {4y 2,700

Options :

92090648857. 1
92090648858. 2
92090648859. 3
92090648860. 4



Question Number : 16 Question Id : 92090612373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20420+ 20 -20x 20=20

(1) + and + (2) +and-—
(3) +andx (1) =and=+
Options :

92090648861. 1
92090648862. 2
92090648863. 3
92090648864. 4

Question Number : 16 Question Id : 92090612373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20+20+ 20— 20 x 20 =20

(1) + and + (2) +and-—
(3) + and x (4) = and=
Options :

92090648861. 1
92090648862. 2
92090648863. 3
92090648864. 4

Question Number : 16 Question Id : 92090612373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20420 =20-20x 20=20
(1) + and + (2) +and-—
(3) +andx (1) =and=+

Options :



92090648861. 1
92090648862. 2
92090648863. 3
92090648864. 4

Question Number : 17 Question Id : 92090612374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

B3IGY : 4258 :: 9BTH : ?

(1) B5763 (2) B764
(3) 7764 (4) 7763
Options :

92090648865. 1
92090648866. 2
92090648867. 3
92090648868. 4

Question Number : 17 Question Id : 92090612374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9875 7

(1) 5763 (Z) 8764
(3) 7764 (4) 7763
Options :

92090648865. 1
92090648866. 2
92090648867. 3
92090648868. 4

Question Number : 17 Question Id : 92090612374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9875 : 7
(1) 5763 (Z) 8764
(3) 7764 (4) 7763
Options :
92090648865. 1
92090648866. 2

92090648867. 3
92090648868. 4

Question Number : 18 Question Id : 92090612375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That bov playing is the yvounger of two brothers of the daughter
ol my Father's wile”. How 18 the boy who 18 playving is related to Milind:

(1) Brother (2) Brother-in-law
(3 Son {4) Cousin
Options :

92090648869. 1
92090648870. 2
92090648871. 3
92090648872. 4

Question Number : 18 Question Id : 92090612375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That bov playing is the vounger of two brothers of the daughter
ol my father's wife”. How 18 the buy who 18 playing 18 related to Milind:

(1) Brother (2) Brother-in-law
(3) Son (4) Cousin
Options :

92090648869. 1
92090648870. 2
92090648871. 3
92090648872. 4

Question Number : 18 Question Id : 92090612375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That boy playing is the vounger of two brothers of the daughter
ol my father's wife”. How 13 the buy who 18 playing 18 related to Milind:

(1) Brother (2) Brother-in-law
(3) Son (4) Cousin
Options :

92090648869. 1
92090648870. 2
92090648871. 3
92090648872. 4

Question Number : 19 Question Id : 92090612376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the statement and decide which of the assumption is implicit in the
statement:

Statement @ A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I) Every student can afford to buy the hook.

(II) The book is well-written

(1) If only assumption I is implicit
(2)  If only assumption I is implicit
(3) If neither I nor 11 is implicit

(4) If both assumption I and 11 are implicit

Options :

92090648873. 1
92090648874. 2
92090648875. 3
92090648876. 4

Question Number : 19 Question Id : 92090612376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Ewery student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption I is implicit

(2)  If only assumption Il is implicit

(3 If neither I nor 11 is implicit

(4) If both assumption I and 1l are implicit

Options :

92090648873. 1
92090648874. 2
92090648875. 3
92090648876. 4

Question Number : 19 Question Id : 92090612376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Ewery student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption I is implicit
(2)  If only assumption Il is implicit
(3 If neither I nor 11 is implicit
(4) If both assumption I and 1l are implicit
Options :
92090648873. 1
92090648874. 2
92090648875. 3
92090648876. 4

Question Number : 20 Question Id : 92090612377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(By All chairs are chalks.
Conelusions : (I) Some pens are chairs,

(II) Some chalks are pens.

(1)

If conclusion (D) follows
(2) If conclusion (1) follows
(3) If either conclusion (I) or (II) follows

(4) Both conclusion (1) and (1) follows

Options :

92090648877. 1
92090648878. 2
92090648879. 3



92090648880. 4

Question Number : 20 Question Id : 92090612377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs.

(IT) Some chalks are pens.

If conclusion (1) follows
(2) If conclusion (1I) follows
(3 If either conclusion (I) or (11 follows

(4) Both coneclusion (1) and (II) follows

Options :

92090648877. 1
92090648878. 2
92090648879. 3
92090648880. 4

Question Number : 20 Question Id : 92090612377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs,

(II) Some chalks are pens.

If conclusion (1) follows
(2) If conclusion (II) follows
(3) If either conclusion (1) or (II) follows

(4) Both conclusion (1) and (II) follows

Options :
92090648877. 1
92090648878. 2



92090648879. 3
92090648880. 4

Question Number : 21 Question Id : 92090612378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3  Vindhyan Range (4) Satpura Hills

Options :

92090648881. 1
92090648882. 2
92090648883. 3
92090648884. 4

Question Number : 21 Question Id : 92090612378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basing?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhyan Range {(4) Satpura Hills

Options :

92090648881. 1
92090648882. 2
92090648883. 3
92090648884. 4

Question Number : 21 Question Id : 92090612378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3) Vindhyan Range (4) Satpura Hills

Options :



92090648881. 1
92090648882. 2
92090648883. 3
92090648884. 4

Question Number : 22 Question Id : 92090612379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 ¢

List 1 List 11
(Name of committee) {(Various sector of India
Feonomy)
(A) Bimal Jalan Committee (I) Corporate Governance
(B) Birla Committee (lI) Improving national

highways in India
(Cy S R Harhim Committee (111} Urban poverty

(D) Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(LL), (B)-(111), (C)-(IV), (D)-(1)
(2) (A)-(1), (B)-(IV), (C)-(111), (D)-(1L)
(3) (A)-(1V), (B)-(1), (C)-(111), (D)-(1L)
(4) (A)-(1V), (B)-(1), (C)-(11), (D)-(111)

Options :

92090648885. 1
92090648886. 2
92090648887. 3
92090648888. 4

Question Number : 22 Question Id : 92090612379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List [ with List II :

List 1 List 11
(Name of committes) (Various gector of India
Economy)

{A) Bimal Jalan Committee (I} Corporate Governance

(B) Birla Committee (II) Improving national
highways in India

(Cy SR Harhim Committee (I1I) Urban poverty

(D) Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1)  (A)-(ID), (B)-(I1I), (C)-(IV), (D)-(I)
2 (WD, (B)-(IV), (C)-(11D), (D)-(1L)
(3 (A-IV), (B)-(D, (C)-(11D), (D)-(1D)
@) (A)-AV), (B)-(D), (C)-(11), (D)-(11L)

Options :

92090648885. 1
92090648886. 2
92090648887. 3
92090648888. 4

Question Number : 22 Question Id : 92090612379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with List 11 :

List 1 List 11
(Name of committee) (Various sector of India
Economy)

{A) Bimal Jalan Committee (I) Corporate Governance

(B} Birla Committee (I) Improving national
highways in India

(”y S R Harhim Committee (IL1) Urban poverty

(D) Chaturvedi {(IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(I1I), (C)-(IV), (D)-(I)
(2)  (A)-(I), (B)-(IV), (C)-(111), (D)-(11)
(3)  (A)-AV), (B)-(D). (C)-(11D), (D)-(1L)
4 (A)-IV), (B)-(D. (C)-(11), (D)-(11L)



Options :

92090648885. 1
92090648886. 2
92090648887. 3
92090648888. 4

Question Number : 23 Question Id : 92090612380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3 Inter State Bus Terminal(ISBT) (4) Port

Options :

92090648889. 1
92090648890. 2
92090648891. 3
92090648892. 4

Question Number : 23 Question Id : 92090612380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT) (4) Port

Options :

92090648889. 1
92090648890. 2
92090648891. 3
92090648892. 4

Question Number : 23 Question Id : 92090612380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3 Inter State Bus Terminal(ISBT) (4) Port



Options :

92090648889. 1
92090648890. 2
92090648891. 3
92090648892. 4

Question Number : 24 Question Id : 92090612381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement II @ Net Domestic Product (NDP) equals to the GDP plus depreciation
{value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement I are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement 1 is incorrect but Statement II is correct

Options :

92090648893. 1
92090648894. 2
92090648895. 3
92090648896. 4

Question Number : 24 Question Id : 92090612381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement I  :  Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement 1 is correct
Options :
92090648893. 1
92090648894. 2

92090648895. 3
92090648896. 4

Question Number : 24 Question Id : 92090612381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country

during a year.

Statement II @ Net Domestic Product (NDP) equals to the GDP plus depreciation
{value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement I is correct

Options :
92090648893. 1



92090648894. 2
92090648895. 3
92090648896. 4

Question Number : 25 Question Id : 92090612382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning

(3) Tele medicine {4) Aadhar based digital signature

Options :

92090648897. 1
92090648898. 2
92090648899. 3
92090648900. 4

Question Number : 25 Question Id : 92090612382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement {2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090648897. 1
92090648898. 2
92090648899. 3
92090648900. 4

Question Number : 25 Question Id : 92090612382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090648897. 1



92090648898. 2
92090648899. 3
92090648900. 4

Part B: Baudha Darshan

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

920906246
2

Online
Mandatory
75

75

300

Yes

0

1
920906406
Yes

null

Question Number : 26 Question Id : 92090612383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the ereator of “Saundaranand Kavya™?

(1) Mahakavi Kalidasa
(3) Mahakavi Ashvaghosha

Options :

92090648901. 1
92090648902. 2
92090648903. 3
92090648904. 4

Mahakavi Bhasa
Mahakavi Magha

Question Number : 26 Question Id : 92090612383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



< &g & =TSN FH 27

(1) wEwERg Fifees (2) WETRfd WE
(3) Herfa FvEEm (4) wETHE |
Options :

92090648901. 1
92090648902. 2
92090648903. 3
92090648904. 4

Question Number : 26 Question Id : 92090612383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e GHead EHaR: &:7
1. TgPidpIicgr:
2. UEDIGHE:
3.  HEPid: YW
4. HgHId: ATE:
Options :

92090648901. 1
92090648902. 2
92090648903. 3
92090648904. 4

Question Number : 27 Question Id : 92090612384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Where did lord Buddha attain enlightenment?

(1) Kaplilavastu (2) Saranath
(3) Rajagrih (4) Bodhagaya
Options :

92090648905. 1
92090648906. 2
92090648907. 3
92090648908. 4



Question Number : 27 Question Id : 92090612384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HITEH 43 I g50d $I Wi FHal 537

(1) Hfteas @ (2) dr=Ty H
(3) TR (4) &g §
Options :

92090648905. 1
92090648906. 2
92090648907. 3
92090648908. 4

Question Number : 27 Question Id : 92090612384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA g Gscd $A SAHT?
1. DUAGETR
2. R
3. R
4.  dIUTEEE
Options :

92090648905. 1
92090648906. 2
92090648907. 3
92090648908. 4

Question Number : 28 Question Id : 92090612385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The settled doctrine of “Pratityasamutpada” is called:

(1) Satakaryavada {2) Karya -Karanavada
(3} Vivartavada {4) Asatkaryavada
Options :

92090648909. 1
92090648910. 2
92090648911. 3
92090648912. 4

Question Number : 28 Question Id : 92090612385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

velier gqeaTg % fage %1 *ad 2-

(1) deprERE (2) FH-FnorETE

(3 faadar (4) AR
Options :

92090648909. 1
92090648910. 2
92090648911. 3
92090648912. 4

Question Number : 28 Question Id : 92090612385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UdiaagaG g dud -
1. Uordg:
2. HH-SHRUMRE:
3. faadare:
4, TP
Options :

92090648909. 1
92090648910. 2
92090648911. 3
92090648912. 4



Question Number : 29 Question Id : 92090612386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many types of logical inferences (34 ¥5917) are there in Bauddh philosophy?

(1) Three () Two
(3) Four (1) Sewven
Options :

92090648913. 1
92090648914. 2
92090648915. 3
92090648916. 4

Question Number : 29 Question Id : 92090612386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dtgesA § IgeH wa F faa ie #7

(1) = @ =
(3) =I (4) @
Options :

92090648913. 1
92090648914. 2
92090648915. 3
92090648916. 4

Question Number : 29 Question Id : 92090612386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SlGaR STHFYHN Hid ¥ 9f?
R
2. =
3. d@ER:



Options :

92090648913. 1
92090648914. 2
92090648915. 3
92090648916. 4

Question Number : 30 Question Id : 92090612387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kinds of ocular proof or perception (¥738) in Bauddh philosophy are :

(1) Seven (2) Four
(3) Five (1) Three
Options :

92090648917. 1
92090648918. 2
92090648919. 3
92090648920. 4

Question Number : 30 Question Id : 92090612387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dtg g9 | woge wAm % fhad e #7

(1) & (2) =R
(3) = (4) M
Options :

92090648917. 1
92090648918. 2
92090648919. 3
92090648920. 4

Question Number : 30 Question Id : 92090612387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 atd

2. ddM:

3 U4

4, Fa:
Options :

92090648917. 1
92090648918. 2
92090648919. 3
92090648920. 4

Question Number : 31 Question Id : 92090612388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Main division of “Mahayana Prasthana” of Bauddh religion are:

(1) Eight (2) Bix
(3} Four (4) Two
Options :

92090648921. 1
92090648922. 2
92090648923. 3
92090648924. 4

Question Number : 31 Question Id : 92090612388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higud & WERH TEIH & 9@ W #-

(1) 2 2) B

(3 =W @) @
Options :

92090648921. 1
92090648922 2
92090648923. 3
92090648924. 4



Question Number : 31 Question Id : 92090612388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST AR W Yek: g

1 m

2. Ug

3. Hdli:

4. @
Options :

92090648921. 1
92090648922. 2
92090648923. 3
92090648924. 4

Question Number : 32 Question Id : 92090612389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With which of the following “Aryashtanga” is related to:

(1) Nirodhagaminipratipada (2) Nirodha
(3) Samudaya (4)  Dukkh
Options :

92090648925. 1
92090648926. 2
92090648927. 3
92090648928. 4

Question Number : 32 Question Id : 92090612389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A e Agifaiaa feaa geEg 27
(1) FrrgmfEd gfieg @ (2) faH
(3) Tgead (4 g@H

Options :



92090648925. 1
92090648926. 2
92090648927. 3
92090648928. 4

Question Number : 32 Question Id : 92090612389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TATFTE: HelferfEda: & U8 SIS

1. RymitEuferes 9g

2. g9 Ee

3. HEUAuE

4. GWEAUE
Options :

92090648925. 1
92090648926. 2
92090648927. 3
92090648928. 4

Question Number : 33 Question Id : 92090612390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Mahabhinishkramana” is related to:

{1y Birth of Buddh (2) Enlightenment of Buddh
(3) Teaching of Buddha (4) Abandonment of home of Buddha
Options :

92090648929. 1
92090648930. 2
92090648931. 3
92090648932. 4

Question Number : 33 Question Id : 92090612390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



werfufrernm w1 gy -

(1) 299 EH (2) 95 % 7 Wi| |
(3) FEZFIGW A (4) 93 % TE-7m Y
Options :

92090648929. 1
92090648930. 2
92090648931. 3
92090648932. 4

Question Number : 33 Question Id : 92090612390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeIUFsFHURT s Ki—
1. g5 o 98
2. o IAVIGH 98
3. gS¥IUcEH Ig
4. SSHYEANH U8
Options :

92090648929. 1
92090648930. 2
92090648931. 3
92090648932. 4

Question Number : 34 Question Id : 92090612391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the Acharya of “Vigyanavada Prasthan” of Bauddh philosophy?

(1) Acharya Nagarjuna {2) Acharya Dingnaga
{(3) Acharya Vasubandhu (4) Acharya Dharmakirti
Options :

92090648933. 1
92090648934. 2
92090648935. 3
92090648936. 4



Question Number : 34 Question Id : 92090612391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AgeyH = fasmar vm & s=d w1 E7

(1) = T (2) 3maEd fegam
(3) m=r 9gEy (4) = gehifd
Options :

92090648933. 1
92090648934. 2
92090648935. 3
92090648936. 4

Question Number : 34 Question Id : 92090612391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TGy ATHaeTRIFS JEr: &2
1. SHEEATTY:
2. EEEAnT:
3. HEEaqER):
4. SrardeH®I:
Options :

92090648933. 1
92090648934. 2
92090648935. 3
92090648936. 4

Question Number : 35 Question Id : 92090612392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the author of “Madhyamakashastram™?

(1) Acharya Chandrakirti (2) Acharya Ratnakirti
(3) Acharya Dharmakirti (4) Acharya Nagarjuna
Options :

92090648937. 1



92090648938. 2
92090648939. 3
92090648940. 4

Question Number : 35 Question Id : 92090612392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

REHFI foram Uy 27

(1) Fr=d S5ehid & (2) sm=r W w5
(3) Fmad gushifd = (4) FT=ETE AT B
Options :

92090648937. 1
92090648938. 2
92090648939. 3
92090648940. 4

Question Number : 35 Question Id : 92090612392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NS YIRG H& TSR
1. HEdTE®:
2. HTERERED I
3. SERUHS:
4. SEMEEFNA™
Options :

92090648937. 1
92090648938. 2
92090648939. 3
92090648940. 4

Question Number : 36 Question Id : 92090612393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the patron king of first “Bauddhsangiti”?

(1) Bimbisara (2y  Kalashoka
(3) Ajatashatru {4y Ashoka
Options :

92090648941. 1
92090648942. 2
92090648943. 3
92090648944. 4

Question Number : 36 Question Id : 92090612393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yy &g GEifd 1 GE T H1H 917

(1) fafemm (2) eI
(3) =T (4) FH
Options :

92090648941. 1
92090648942. 2
92090648943. 3
92090648944. 4

Question Number : 36 Question Id : 92090612393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TYHE GO (e TR&T: il @: l?
1. fefEaR:
2. RIS
3. SR
4.
Options :

92090648941. 1
92090648942 2
92090648943. 3
92090648944. 4



Question Number : 37 Question Id : 92090612394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Suttavibhanga” is the part of :

(1) Abhidhamma Pitaka (2) Sutta Pitaka
(3) Vinay Pitaka (4)  Anu Pitaka
Options :

92090648945. 1
92090648946. 2
92090648947. 3
92090648948. 4

Question Number : 37 Question Id : 92090612394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gefnin g iz &1 am 27

(1) sAfwumives = (2) iz =
(3) Tomafres =i (1) s+
Options :

92090648945. 1
92090648946. 2
92090648947. 3
92090648948. 4

Question Number : 37 Question Id : 92090612394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

galaufd 9 fUehw yrnsir
1. sftewiieswd
2. gditesrd
3. forafticew
4. 3ficed
Options :

92090648945. 1



92090648946. 2
92090648947. 3
92090648948. 4

Question Number : 38 Question Id : 92090612395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Doctrine of famous “Aajeevaka’s” 1s found in :

(1) Khuddaka Nikaya (2) Anguttara Nikaya
(3) Majjhima Nikava (4) Digha Nikaya
Options :

92090648949. 1
92090648950. 2
92090648951. 3
92090648952. 4

Question Number : 38 Question Id : 92090612395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

guferg arsiae @1 fagra foermr 8-
(1) = fwmd (2) R e |
(3) wiszm Frpra H (4) St i
Options :

92090648949. 1
92090648950. 2
92090648951. 3
92090648952. 4

Question Number : 38 Question Id : 92090612395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. WeaHed

2. HEOied

3. HicsmHeR

4. <drEHeE
Options :

92090648949. 1
92090648950. 2
92090648951. 3
92090648952. 4

Question Number : 39 Question Id : 92090612396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of parts of “Abhidhamma Pitaka” are :

(1) Seven (2) Nine
(3) Twelve (4) Fifteen
Options :

92090648953. 1
92090648954. 2
92090648955. 3
92090648956. 4

Question Number : 39 Question Id : 92090612396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sfemfies % e fawm 32

(1) Em 2 @
(3) @mE (1) 5@
Options :

92090648953. 1
92090648954. 2
92090648955. 3
92090648956. 4



Question Number : 39 Question Id : 92090612396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fyrritesw $id rm: i
1. ¥
2. -4
3.  wla®l
4. U
Options :

92090648953. 1
92090648954. 2
92090648955. 3
92090648956. 4

Question Number : 40 Question Id : 92090612397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

President of third “Sangiti” was :

(1} Bhikshu Revata (2) Moggaliputta Tissa
{(3) Mahakashyapa (4) Ananda
Options :

92090648957. 1
92090648958. 2
92090648959. 3
92090648960. 4

Question Number : 40 Question Id : 92090612397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qara agifa & Feas 9-
(1) oy @a (2) wrmfergs foe
(3) R (4) =

Options :



92090648957. 1
92090648958. 2
92090648959. 3
92090648960. 4

Question Number : 40 Question Id : 92090612397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Id: Sfa): SId—
1. fHgEYaa:
2. Wi
3. HElHy:
4. A<
Options :

92090648957. 1
92090648958. 2
92090648959. 3
92090648960. 4

Question Number : 41 Question Id : 92090612398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

This “Samyagyanapurvika Sarvapurusharthasiddhi” formula is in the book :

(1) Praman vartika (2) Pramanasamuchchaya
(3) Nwayabindu (4) Nyayapravesha
Options :

92090648961. 1
92090648962. 2
92090648963. 3
92090648964. 4

Question Number : 41 Question Id : 92090612398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g gdyEEiais:” 92 g7 few b 27

(1) wHETS § (2) wHI-TH==d |
(3 =mafagd (4) =g 999 H§
Options :

92090648961. 1
92090648962. 2
92090648963. 3
92090648964. 4

Question Number : 41 Question Id : 92090612398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA AP adgeTiRiie: Yae S ud e

1. WEVElie

2. UHUEgEd

3. e

4. Iy
Options :

92090648961. 1
92090648962. 2
92090648963. 3
92090648964. 4

Question Number : 42 Question Id : 92090612399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Magadhi language has relation with:

(1) Sanskrit (2) Bundeli
(3) Hindi (4) Pali
Options :

92090648965. 1
92090648966. 2
92090648967. 3
92090648968. 4



Question Number : 42 Question Id : 92090612399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT W W g R -

(1) H&Fa 4 (2) g<ell @
3 ®Ha (4) Tfad
Options :

92090648965. 1
92090648966. 2
92090648967. 3
92090648968. 4

Question Number : 42 Question Id : 92090612399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATE- UTHT: RS Ra—
1. EIHdHNTl Hg
2. S<vYaI g
3. fg=<<vmar w8
4. UIfeTHTSaT W8
Options :

92090648965. 1
92090648966. 2
92090648967. 3
92090648968. 4

Question Number : 43 Question Id : 92090612400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The author of “Bodhicharyvavatara” book is :

(1) Bhawvaviveka (2) Chandrakirti
(3) Ratnakirti {(4) Shantideva
Options :

92090648969. 1



92090648970. 2
92090648971. 3
92090648972. 4

Question Number : 43 Question Id : 92090612400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ff=ggdr 779 & oiEs a-

(1) vaEfaEs (2) ==hifd
(3) T (4) miea
Options :

92090648969. 1
92090648970. 2
92090648971. 3
92090648972. 4

Question Number : 43 Question Id : 92090612400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SifEreaiaaR- g aEHIsE—
1. Yididde:
2. aEDIE:
3. dADId:
4. gficE:
Options :

92090648969. 1
92090648970. 2
92090648971. 3
92090648972. 4

Question Number : 44 Question Id : 92090612401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The description of conduct (=41) of Bodhisatva is found in the book :

(1) Chatuh Shataka (2) Shunyata Saptati
(3) Bodhicharyavatara (4) Tatvasangraha
Options :

92090648973. 1
92090648974. 2
92090648975. 3
92090648976. 4

Question Number : 44 Question Id : 92090612401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fiftrae 1 =991 &1 Ieor@ Form 0y | foermn 27

(1) a9 | (2) ATl |
(3) aifereiEar 4 (4) TR |
Options :

92090648973. 1
92090648974. 2
92090648975. 3
92090648976. 4

Question Number : 44 Question Id : 92090612401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SifraEw 9ain: Il HieH I et
1. AIgAETY
2. AR
3. aftggfaan
4. d@adg
Options :

92090648973. 1
92090648974. 2
92090648975. 3
92090648976. 4



Question Number : 45 Question Id : 92090612402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Sarvastivadi” accept “Asanskritadharma”

{1) Akasha, Pratisankhyanirodha, Apratisankhyanirodha
(2) Kaal, Pratisankhyanirodha, Apratisankhyanirodha
{(3) Dukkh, Pratisankhyanirodha, Apratisankhyaniroda
{(4) Anitya, Dukkh, Anatma

Options :

92090648977. 1
92090648978. 2
92090648979. 3
92090648980. 4

Question Number : 45 Question Id : 92090612402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gaifeqanfedi 9 sEepd o = 2-

(1)  mspra, wiogenfy, swfrgenfog (2) we, sfgentoyg, swfrenty
(3) 3w, ogenfoy, swfdgenfoy (1) wFeE, 3, s

Options :

92090648977. 1
92090648978. 2
92090648979. 3
92090648980. 4

Question Number : 45 Question Id : 92090612402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Halfane: sragpaud Wigdi-—
1. HTHIEE:, UiHEAT-Y:, AidEsar-Rey:
2. Pk, UicEi-RIE:, smfdeem-re:
3. ¢Eq, ufqden-RIeY:, smfdas-e:
4.  HHG:, gEH, 3FTEH:

Options :

92090648977. 1
92090648978. 2
92090648979. 3
92090648980. 4

Question Number : 46 Question Id : 92090612403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“As the things should be so as its position” is the underlying meaning of:

(1) Tathata (2) Vidya
(3) Vidvata (4) Vitathata
Options :

92090648981. 1
92090648982. 2
92090648983. 3
92090648984. 4

Question Number : 46 Question Id : 92090612403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St g & 3 feafa & v A -

(1) o 2 (2) feem 2
(3) fagm 2 (4) foawar 2
Options :

92090648981. 1
92090648982. 2
92090648983. 3



92090648984. 4

Question Number : 46 Question Id : 92090612403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT 9% Hdd, duT 7 [k YIag: Ta—

(I s e f

2. faen afe)

3. fagew i)

4. faauar sfe)
Options :

92090648981. 1
92090648982. 2
92090648983. 3
92090648984. 4

Question Number : 47 Question Id : 92090612404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Three types of middle terms l:%’ﬂ} are:

{1) Anupalabdhi, Svabhav, Karya
(2) Anityam, Dukkham, Anatmam
(3) Buddha, Dharma, Sangham

{(4) Shilam, Samadhi, Pragya

Options :

92090648985. 1
92090648986. 2
92090648987. 3
92090648988. 4

Question Number : 47 Question Id : 92090612404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 * @ WER &, I° -

(1) Fvefey, @vE, 6 (2) wFm, g8, AT
(3) 9%, ud, @9 (4) ¥ire, gy, W
Options :

92090648985. 1
92090648986. 2
92090648987. 3
92090648988. 4

Question Number : 47 Question Id : 92090612404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl 70: UbRT: Fi- gYI—
1. SFUdier, WYa: HHEH
2. @Y gy, 3

3. g yHy, guq
4.  Siterd, qHIfe:, U
Options :

92090648985. 1
92090648986. 2
92090648987. 3
92090648988. 4

Question Number : 48 Question Id : 92090612405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many kinds are there of fallacy?

(1} Seven (2) Four
(3) Five (4) Three
Options :

92090648989. 1
92090648990. 2
92090648991. 3
92090648992. 4



Question Number : 48 Question Id : 92090612405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EraTaE & g We feead #7

(1) @ (2) =W
(3) g (4)
Options :

92090648989. 1
92090648990. 2
92090648991. 3
92090648992. 4

Question Number : 48 Question Id : 92090612405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR B AT A=
1. 9d
2. ddl:
3. Ud
4,  H4:
Options :

92090648989. 1
92090648990. 2
92090648991. 3
92090648992. 4

Question Number : 49 Question Id : 92090612406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the creator of treatise “Chatuhshatakam™

1) Acharya Nagarjuna
2) Acharya Varubandhu
3) Acharya Aryadeva

4)  Acharya Bhavaviveka

T

(
(
(
(

Options :

92090648993. 1
92090648994. 2
92090648995. 3
92090648996. 4

Question Number : 49 Question Id : 92090612406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G-I U & el i a7

(1)  =ATTrEH (2) TgaY

(3) e (4) wEfaE®
Options :

92090648993. 1
92090648994. 2
92090648995. 3
92090648996. 4

Question Number : 49 Question Id : 92090612406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I AAHH 3l T Fl b
1. e
2. HERGgER;
3. IEEEE:
4. HraYEdEs:
Options :

92090648993. 1
92090648994. 2
92090648995. 3



92090648996. 4

Question Number : 50 Question Id : 92090612407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two main characters of the treatise “Suhrillekha” are :

(1) Milinda and Nagasena

(2) Shatavahana and Nagarjuna

(3) Ajatashatru and Mahakashyapa
(4) Ashoka and Moggaliputta

Options :

92090648997. 1
92090648998. 2
92090648999. 3
92090649000. 4

Question Number : 50 Question Id : 92090612407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heeord & W TH #

(1) fuferg s Tmmm (2) wAETEd 3R AT
(3)  HSWE TH HErHTAY (4) 3R APy
Options :

92090648997. 1
92090648998. 2
92090648999. 3
92090649000. 4

Question Number : 50 Question Id : 92090612407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeeoE:' 3id T4 GEIUE! W—

1. Tefer<: ey

2. AArg: ANTAY

3. A9 HER U

4. 3giH: m‘ﬂﬁlﬁﬁf
Options :

92090648997. 1
92090648998. 2
92090648999. 3
92090649000. 4

Question Number : 51 Question Id : 92090612408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first sermon Mahatma Buddh gave at :

(1) Rajagriha (2) Vaishali
(3) Saranath (4) Kaushambi
Options :

92090649001. 1
92090649002. 2
92090649003. 3
92090649004. 4

Question Number : 51 Question Id : 92090612408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WaH g8 1 99" Iuey fem-

(1) TR (2) Semreht |

(3) @A™ H (4) e |
Options :

92090649001. 1
92090649002. 2
92090649003. 3
92090649004. 4



Question Number : 51 Question Id : 92090612408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA G HUATICRIA Sad—
1. oe
2. duTH
3. WRAM
4. TN
Options :

92090649001. 1
92090649002. 2
92090649003. 3
92090649004. 4

Question Number : 52 Question Id : 92090612409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The discussion about “Brahmavihara” is found in :

(1) Hinayana (2) Mahayana
(3) Vajrayana (4) Sahajayana
Options :

92090649005. 1
92090649006. 2
92090649007. 3
92090649008. 4

Question Number : 52 Question Id : 92090612409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
werfazm i == 2 -

(1) #EE=H (2) WEEH o

(3) wFARH (4) TEFgE



Options :

92090649005. 1
92090649006. 2
92090649007. 3
92090649008. 4

Question Number : 52 Question Id : 92090612409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

serfders ==f Bafa—

1. ®FEE

2. TEEH

3. awgH

4. HgwdH
Options :

92090649005. 1
92090649006. 2
92090649007. 3
92090649008. 4

Question Number : 53 Question Id : 92090612410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Avisamvadigyanam Pramanam” is the trait of :

(1) Pratyaksha (2) Pramana
(3}  Anumana (4) Gyana
Options :

92090649009. 1
92090649010. 2
92090649011. 3
92090649012. 4

Question Number : 53 Question Id : 92090612410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



* Aferdanfes wmom e 2 -

(1) weg& = (2) THT
(3) FIHE (4) T =
Options :

92090649009. 1
92090649010. 2
92090649011. 3
92090649012. 4

Question Number : 53 Question Id : 92090612410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qHaTfesH wHTIHiT daomR—
1. W&
2. HHIHE
3. HJHHY
4. A
Options :

92090649009. 1
92090649010. 2
92090649011. 3
92090649012. 4

Question Number : 54 Question Id : 92090612411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The counting of the hook “Dhammapada” takes place under :

(1) Vinay Pitaka (2) Sutta Pitaka
(3) Abhidhamma Pitaka (4) Anu Pitaka
Options :

92090649013. 1
92090649014. 2
92090649015. 3



92090649016. 4

Question Number : 54 Question Id : 92090612411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geyye 1 o e e & s=ia 27

(1) Famafies (2) Hufues
3 Hfuumfes (4) FfeH
Options :

92090649013. 1
92090649014. 2
92090649015. 3
92090649016. 4

Question Number : 54 Question Id : 92090612411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IS 3 TR UHT $ fUedh el Hatd?

1. feTaftesw

2. gdYesrd

3. efyymiiesw

4.  fUcHrd
Options :

92090649013. 1
92090649014. 2
92090649015. 3
92090649016. 4

Question Number : 55 Question Id : 92090612412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The doctrine of Niganthanatha putta is :

(1) Saptayamasamvara (2) Shashthayamasamvara
(3) Panchayamasamvara (4) Chaturyamasamvara
Options :

92090649017. 1
92090649018. 2
92090649019. 3
92090649020. 4

Question Number : 55 Question Id : 92090612412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frmearergm & fagr= 2 -

(1) g (2) VEITTE
(3) J=EEMHEET (4) =aFTHEER
Options :

92090649017. 1
92090649018. 2
92090649019. 3
92090649020. 4

Question Number : 55 Question Id : 92090612412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrToETygTE e —

1. HagHYaE:

2.  YEOHYAE:

3.  U9gHdEdw:

4. AgaHYER:
Options :

92090649017. 1
92090649018. 2
92090649019. 3
92090649020. 4



Question Number : 56 Question Id : 92090612413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Avyakrita” is called :

(1) Akalpaniya {2) Anivarchaniya
(3) Avishwasaniya {(4) Avishmaraniya
Options :

92090649021. 1
92090649022. 2
92090649023. 3
92090649024. 4

Question Number : 56 Question Id : 92090612413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fererahl s¥eaeha e 27

(1) FAFe9AHg =l (2) =T =
(3) wfavasda =i (4) AfemroiE =i
Options :

92090649021. 1
92090649022. 2
92090649023. 3
92090649024. 4

Question Number : 56 Question Id : 92090612413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SATHd: HEA—
1. HPUAG:
2. i-deT:
3. SffaysHla:



Options :

92090649021. 1
92090649022. 2
92090649023. 3
92090649024. 4

Question Number : 57 Question Id : 92090612414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thurst (Trishna) is the reason of :

(1) Emancipation (2)  Fruition
(3) Pain (4) Joy
Options :

92090649025. 1
92090649026. 2
92090649027. 3
92090649028. 4

Question Number : 57 Question Id : 92090612414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qom fermer 29 27

(1) ofe = (2) ofes =
(3) TEH (1) &
Options :

92090649025. 1
92090649026. 2
92090649027. 3
92090649028. 4

Question Number : 57 Question Id : 92090612414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GRUIEZ R

1. Eﬁﬁ:
2. Y&t
3. ©Ed
4 o
Options :

92090649025. 1
92090649026. 2
92090649027. 3
92090649028. 4

Question Number : 58 Question Id : 92090612415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Magganatthangikosettho” is in which book?

(1) Dhammapada (2) Suttanipata
(3) Khandhaka (4) Parivara
Options :

92090649029. 1
92090649030. 2
92090649031. 3
92090649032. 4

Question Number : 58 Question Id : 92090612415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘wureafER Heal fRa g d 2 ¢

(1) g=ve (2) g Fum
(3) wEuUF (4) dfEm
Options :

92090649029. 1
92090649030. 2
92090649031. 3
92090649032. 4



Question Number : 58 Question Id : 92090612415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG FerepT SCar 3 S I sifEr
1. HEug
2. goHud
3. WD
4. URER
Options :

92090649029. 1
92090649030. 2
92090649031. 3
92090649032. 4

Question Number : 59 Question Id : 92090612416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The creation of which Bauddh philosophy book takes place in “Vaipulya Sutra™?

(1) Vibhanga (2) Dhatukatha
(3) Saddharmapurdarika (4) Kathavatthu
Options :

92090649033. 1
92090649034. 2
92090649035. 3
92090649036. 4

Question Number : 59 Question Id : 92090612416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g o9l % T oy it afervEr Sqegm’ | B 27
(1)  Fem (2) wTgHen
(3) weHYElH (1) FUEY

Options :



92090649033. 1
92090649034. 2
92090649035. 3
92090649036. 4

Question Number : 59 Question Id : 92090612416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG FY U AT dYedgS Hafd?
1. favimm
2. SIS
3. UoHyusiewy

4. HYUEY Id T

Options :

92090649033. 1
92090649034. 2
92090649035. 3
92090649036. 4

Question Number : 60 Question Id : 92090612417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
As per “Bauddhagrantha” “Bauddhayanam” is :

(1) Hinayanam, Mahayanam and Vajrayanam

(2) Shravakayanam, Pratyvekabuddhayanam and Bodhisatvayanam
(3) Shilayanam, Samadhivanam and Pragyanam

(1) Buddhayanam, Dharmayanam and Sanghayanam

Options :

92090649037. 1
92090649038. 2
92090649039. 3
92090649040. 4

Question Number : 60 Question Id : 92090612417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dtguei & Figan g I #-

(1) #F99M, T2E, 9399 (2) HEFAH, YRGS, T
(3) iterm, geTiEE, g5mEE (4) FGIH, THH, FIIH
Options :

92090649037. 1
92090649038. 2
92090649039. 3
92090649040. 4

Question Number : 60 Question Id : 92090612417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FSTUTER siedHH HR—
1. O, AETEE, TS
2. HEHAHH, TSI, Sigw@arH
3. SiieEEE, SHIEEHH, USaEH
4. TS, Y, HOa

Options :

92090649037. 1
92090649038. 2
92090649039. 3
92090649040. 4

Question Number : 61 Question Id : 92090612418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There four parts “Srotapanna, Sukridagami, Anagami and Arhat are of :

(1) Sravakayana (2) Pratyekabuddhayana
(3) Bodhisatvayanam (4) Mahayana
Options :

92090649041. 1
92090649042. 2
92090649043. 3
92090649044. 4



Question Number : 61 Question Id : 92090612418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIAT BHEMH, FATTH 3R 3 =w Wi #-

(1) HEFaH + (2) YEFHGSTH F
(3) @fugeaH + (4) wEEH
Options :

92090649041. 1
92090649042. 2
92090649043. 3
92090649044. 4

Question Number : 61 Question Id : 92090612418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIATTH:— TP G- 3FARTHI- 388 TdR: HITE: Fid—

1. HdR4HY

2. UdegsdAd

3. difTdwary

4.  HeMl™HH{
Options :

92090649041. 1
92090649042. 2
92090649043. 3
92090649044. 4

Question Number : 62 Question Id : 92090612419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of “Paramita” in Buddha philosophy is :

(1) Four (2) Five
(3) bix (4) Seven
Options :

92090649045. 1



92090649046. 2
92090649047. 3
92090649048. 4

Question Number : 62 Question Id : 92090612419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dtgevia 4 uiifansi 6 den 2-

(1) =m (2) wis

(3) 9= (4) Hm
Options :

92090649045. 1
92090649046. 2
92090649047. 3
92090649048. 4

Question Number : 62 Question Id : 92090612419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AiEaR URMFAH! HE sifkd—
1. ddil
2. Ud
3. N
4. W4
Options :

92090649045. 1
92090649046. 2
92090649047. 3
92090649048. 4

Question Number : 63 Question Id : 92090612420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



*Trikaya” in “Mahayana” are :

1) Budddhakaya, Dharmakaya and Sanghakaya
2
3) Shilakaya, Samadhikaya and Pragyakaya
4)  Anityakaya, Dukkhakaya and Anatmakaya

T’

Nirmanakaya, Sambhogakaya and Dharmakaya

—

(
(
(
(

Options :

92090649049. 1
92090649050. 2
92090649051. 3
92090649052. 4

Question Number : 63 Question Id : 92090612420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | e 2-

(1) dg®E, gbsE, Tg6E (2) Fmiverm, SviTeE, YEEE
(3) sfierser, quTiyesm, gsrERE (4) AfETFME, §EFME, FHAEERE
Options :

92090649049. 1
92090649050. 2
92090649051. 3
92090649052. 4

Question Number : 63 Question Id : 92090612420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HeaH Bern: gi—
1. GO, ST, 9Uery
2. fufoem:, dvmmem:, ademy
3. Sfiaem:, auifieT:, Teay
4. ANIST:, GUDE:, AAHBTY

Options :

92090649049. 1
92090649050. 2
92090649051. 3



92090649052. 4

Question Number : 64 Question Id : 92090612421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many sacred place (Ayatana) are there in Buddha philosophy?

(1) Eight 2y Ten
(3  Twelve (4) Fourteen
Options :

92090649053. 1
92090649054. 2
92090649055. 3
92090649056. 4

Question Number : 64 Question Id : 92090612421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Algeya 8 AFA1 1 g fead 27

(1) A3 (2) =™

(3) =me (4) =ies
Options :

92090649053. 1
92090649054. 2
92090649055. 3
92090649056. 4

Question Number : 64 Question Id : 92090612421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Hid e i
1. e
2. @
3. gle¥



Options :

92090649053. 1
92090649054. 2
92090649055. 3
92090649056. 4

Question Number : 65 Question Id : 92090612422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Roots (Dhatu) in Bauddha philosophy are :

(1) Twelve (2) Sixteen
(3) Eighteen (4) Twenty one
Options :

92090649057. 1
92090649058. 2
92090649059. 3
92090649060. 4

Question Number : 65 Question Id : 92090612422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1g o ¥ urgd 8-

(1) =me (2) T

(3) onE (4) zFhE
Options :

92090649057. 1
92090649058. 2
92090649059. 3
92090649060. 4

Question Number : 65 Question Id : 92090612422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. @ed

2. HIEW

3. 3PIeY

4. Uiduic:
Options :

92090649057. 1
92090649058. 2
92090649059. 3
92090649060. 4

Question Number : 66 Question Id : 92090612423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  The teaching of Buddha is safely placed in “Tripitaka”.

Reaszons (R) : Bhikshu Upali and Bhikshu Ananda did the work of collection of Vinay and

Dharma successively.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) {A) 1s correct but (R) is not correct

(4) {A) 1= not correct but (R) is correct

Options :

92090649061. 1
92090649062. 2
92090649063. 3
92090649064. 4



Question Number : 66 Question Id : 92090612423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefefiga 21 wom £ : 261 8 v wuA & o oo o 2-

AfiryA (A) :  Fifies 1 g5 9= gqifaa 2

@6 (R) : fora =1 ger Ty Imfer = wemm 4 foem mn ot 94 =1 fag sma=< <+
HIeH |

I A %I % IUR W Frafafea fasedt 4 9 39y faswes =4

(1) e (A) IR & E, (R), (A) A = = R

(2) T (A) FR(R) & 2, (R), (A) i 9t =men 78 2

(3) (A = 2 feg (R) ot 78 2

@) (A @@ A 2 e R) w2

Options :

92090649061. 1
92090649062. 2
92090649063. 3
92090649064. 4

Question Number : 66 Question Id : 92090612423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafaRad § TUH W UHH G- SO Th Y -
YA (3) : PIfUed gedaan- geigman gl

a@: (@) . foTog daeH fe@uiitremy urie 96a 9 STaaarad
A |

s ea: Tafie oot g
1 (3 @ T & A0 g & (§), (3) DYTE TS ATSH] K|
2. (3. (@) G AU GRS W (4), (3) DY GP AT Al |
3. (3) oS A, fog (@) S A
4. (%) g I, g @) T i

Options :
92090649061. 1



92090649062. 2
92090649063. 3
92090649064. 4

Question Number : 67 Question Id : 92090612424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One iz labelled as Assertion (A) and the other iz labelled as

Reason (R).

Assertion (A) : Lord Buddha attained enlightenment.

Reasons (R) : Because he was a prince.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) {A) 15 correct but (R) 1s not correct

(4) {A) is not correct but (R) is correct

Options :

92090649065. 1
92090649066. 2
92090649067. 3
92090649068. 4

Question Number : 67 Question Id : 92090612424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frefeifiga 2t %um 2 - 21 | v wem 2 30 gou 9 2-

Ao (A):  wEE g2 3 &y ure fwa)

@ (R) : Fifeh & T = 0H 9 |

I S e % an W Frafafea fawe 4 8 sugw fawe 94
(1) & (A) 3(R) T €, (R), (A) i =ét =men 2

(2) T (A) 3 (R) T E, (R), (A) F wét = 728 2 |

(3) (A =@ 2 feg (R) odt 81 2

(4) (A =d R fhg (R) w8 21

Options :

92090649065. 1

92090649066. 2

92090649067. 3
92090649068. 4

Question Number : 67 Question Id : 92090612424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafRed § Sy W UhH AWHYTH AU dhYT -
SHTHBUFH (3) : YA g5 S eTHd|
d: (d@) . el g 9 o i

Sefifaafamedta: THfaar I faga
(3, @ T gl A0 TP W, (@), (3) T TG AT |

sl
,

2. (3, @) d g AU TP W (@), (3) HYAR GG AT Al |
3. (3) W 3R, fbg (@) W A
4. (3 G AR, foeg (@) T |

Options :

92090649065. 1
92090649066. 2
92090649067. 3
92090649068. 4



Question Number : 68 Question Id : 92090612425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : “Samyvaggvanapuyrvika” iz “Sarvapurusharthasiddhi”.

Reasons (R):  “Sarvapurushartha” is acquired even in the absence of “Samyggyvanabhava”.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3 (A) 15 correct but (R) 1s not correct
(4) {A) is not correct but (R) is correct

Options :

92090649069. 1

92090649070. 2

92090649071. 3
92090649072. 4

Question Number : 68 Question Id : 92090612425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fraferfian g %= § - 391 4 % 599 2 3 oo & 2-

Ffghed (A):  TErEEgEs ot geel i fafg 2 2

# (R) : wErEH A # ar o mh geaed 6 fafg a2
I gH1 Hel & 3nun W Fefafiaa fawedi § 8 sugw fawes 4
(1) gFi (A) 3 (R) @@ &, (R), (A) 1 o =men 2|

(2) el (A) 3 (R) 7@ €, (R), (A) 1 g =men 7@ 7 )

(3) (A =d 2 o (R) ét 7 2

(1) (A w@ T 2 g (R) T 2

Options :



92090649069. 1
92090649070. 2
92090649071. 3
92090649072. 4

Question Number : 68 Question Id : 92090612425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad § FU- W THH Sii@YAH SO ah i -

SUPUAH () : TERgEYide gagerdRiiE: vafdl
a: (d) . GG Y adugwaiai ffE: wafa

sreffRafiseia: Tgfiay St R
1 (@) @ T & g & (9), (3) DYTE D oATeHl K|
2. (3), (@)d G A0 G W (@), (3) DUTE G A A |
3. (%) gD i, T (@) SR A

4. (3N IEF i, fg (@) T

Options :

92090649069. 1
92090649070. 2
92090649071. 3
92090649072. 4

Question Number : 69 Question Id : 92090612426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  “Pratityasamutpad” is based on cause and effect theory.

Reasons (R): When “Avidya is there, “Saskara” takes place, after saskar, there comes

science. This is Known as “Bhavachakram”.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) 1s not correct
(4) {A) is not correct but (R) is correct

Options :

92090649073. 1

92090649074. 2

92090649075. 3
92090649076. 4

Question Number : 69 Question Id : 92090612426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f=ferfan €1 9= 2 : g1 9 v e 2 3N gE0 T 8-

Ao (A) :  wdtcargyrTe %1 S i fagm 2 |

% (R) : sifern & 29 W opR B 8, TehR @ famm g @ 58 waes ed 3
I gH1 %Al & sman W Frafafaa fawedt § 8 sugw fawes 94

(1) THE (A) 3R (R) &8 &, (R), (A) F 7t =men 2

(2) = (A) 3t (R) welt 2, (R), (A) =61 well =amem el 81

3 (A= 2 g (R) w0 T 2

(1) () =@ 2 g (R) wé 2

Options :
92090649073. 1
92090649074. 2



92090649075. 3
92090649076. 4

Question Number : 69 Question Id : 92090612426 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafiiad § &Y W T A FHYTH 01 dh e -
HTHDYTH (3) : UeliaagdIe: Sid-HRUE S-S
b (@) . Sifagmyd afa SRl vafd, SRy 9fd fage vafdl e
Uadsh Had|
Srefifafadiameua: gafady I faga ;
1. (3 @ 9 & 60 aEE &' @), () FUTH GG AR A
2. (3), (@T 5 A TS @ (@), (3) FYT TS AR AN |
3. (%) P K, b (4) T Al
4. () qHEIS A, fobeg () T oifed

Options :

92090649073. 1
92090649074. 2
92090649075. 3
92090649076. 4

Question Number : 70 Question Id : 92090612427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) :  One of the main teaching of Lord Buddha is “Panchashila”.
Reasons (R) : Non-Violence is not counted among the “Panchashilas”.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) {A) 15 correct but (R) 1s not correct
(

4) {A) is not correct but (R) is correct

Options :

92090649077. 1
92090649078. 2
92090649079. 3
92090649080. 4

Question Number : 70 Question Id : 92090612427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefafaa g @um & : 391 § v Fom 2 3R ggu a% 2-

AfyE (A):  9asie wER g5 61 9ue faen 2

7% (R) : HfE i o vsEsfter § 98 21

I 2wl % sman w Prafafes feedi § 3 v e
(1) &Ml (A) 3 (R) @ &, (R), (A) $ udl =men 2

@ = (A) 3 (R) T E e (R), (A) 1 w8 =men 7@ )
(3) (M)A 2 e (R) a7 2|

(4) (A =d F 2 T (R) =8t 21

Options :

92090649077. 1

92090649078. 2

92090649079. 3
92090649080. 4

Question Number : 70 Question Id : 92090612427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fofifad § &Y W U AHHFHYTH 39X dh T -
YA (3) : ugrEia 3 WiTaa: e nuHRIET )
d: (d) : g ToET gy A |

SRS : T I R
1. (3, @ 9 & D W, @), (3) FYTE TP AT HK |
2. (3N (@)T Gl AU T K (4), (3) HYTE TP S A |
3. (3N I A, g (@) T i
4. (3)) ES A, fobeg (€) TS i

Options :

92090649077. 1
92090649078. 2
92090649079. 3
92090649080. 4

Question Number : 71 Question Id : 92090612428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements: One is labelled as Assertion (A) and the other iz labelled as

Reason (R).

Assertion (A) :  The life of Bodhisatva is not for the inspiration of people to follow the path

of prosperity.

Reasons (R):  The life of Bodhisatva is for the people to get inspired to follow the path of

prosperity.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) {A) 15 correct but (R) 1s not correct
(4) (A) is not correct but (R) is correct

Options :

92090649081. 1
92090649082. 2
92090649083. 3
92090649084. 4

Question Number : 71 Question Id : 92090612428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=ferfian 1 wvem 2 @ SF1 5 = wuF 2 S gOa o B
Ffrem (A) . =ifuEE %1 SfiEd g FEATTEE WS 9 S T8 2

@ (R) : wifiraed =l Sffaq gat = e qu 9 =6 il W g 2 |
IR F el & R T faefafaa fawed 4 9 suge fawen =4

(1)
(2)
(3)
(4)

gHl (A) 3R (R) &8 &, (R). (A) $i &t =men 2|

ZAt (A) 3R (R) @@t 2 e (R), (A) 1 ot =men 981 2 )
(A) = 2 g (R) =t 7 2

() et =8 8 g (R) 5t 2

Options :
92090649081. 1
92090649082. 2



92090649083. 3
92090649084. 4

Question Number : 71 Question Id : 92090612428 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRfAREd § FUA W THH @Y= U ah YT -

ey (3)) : SUHE Siia- o Heaumr] ge-rd JRomdafE|
db: @) . FIITERI g o HedIvET ga-rd URom s |

el atad ca: FEfaad 3o fd :
(30), (@ d & TP W, @), (3) FYT GG AR |

[e=-§

2. (3, (@) G A0 A W (@), (31) YT G AT Al |
3. () o i, T (@) 9 A
4. (%) 9 i, g (@) v o

Options :

92090649081. 1
92090649082. 2
92090649083. 3
92090649084. 4

Question Number : 72 Question Id : 92090612429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other iz labelled as

Reason (R).

Assertion (A): “Pramanavartikam is created by Acharya Dharmakirti.

Reasons (R): Dharmakirti was not the scholar of Nyaya”.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3 (A) 15 correct but (R) 1s not correct

(4) {A) is not correct but (R) is correct

Options :

92090649085. 1
92090649086. 2
92090649087. 3
92090649088. 4

Question Number : 72 Question Id : 92090612429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frerferfiga 21 wem & : 31 4§ s Fua 2 3 ggu 7 2-
HAfirpem (A) . wEmETds HArEr e 2

@ (R) : et =mafag 78 o |

39U g1 wYEl & san 1 el faseni 4 9 sugw fawen =4
(1) @E (A) 3R (R) T 2, (R), (A) F wd =mem 2

(2) Eﬁ(A)ﬁT(R}Hﬁ%W(RL(A}ﬁHﬁmqﬁ%I
(3) (A =# 2 e (R)y =t 781 2

() (A wé A 2 g (R) 7d 2

Options :

92090649085. 1

92090649086. 2

92090649087. 3
92090649088. 4



Question Number : 72 Question Id : 92090612429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafiad § Ty T T A HTYH SR dh T -
HFHPYAH (3) : HHVERIST SRR SR
GEC)) . yHIfd: grafdg i)

iR ed: Tefiay Fu R -
1. (3N, (@ 9 g 34U 9mF ', @), (3) FYT™ D AR |
2. (3N, (@ T g A TS W@ @), (3) FYTH GG AR Al |
3 (3N 9P A, b (9) T Al
4. (3) G A, fbeg (@) TR &

Options :

92090649085. 1
92090649086. 2
92090649087. 3
92090649088. 4

Question Number : 73 Question Id : 92090612430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following chronologically as per their origin

(A) Vaibhashika

(B) Bauddhasampradaya

(C) Madhyvamika

(D) Sautrantika

(E) Yogachara

Choose the correct answer from the options given below :

() (B), (C). (A), (D), (E)
(2) (A, (D), (E), (C), (B)

(3)  (E)., (B), (C), (D), (A)

Options :

92090649089. 1
92090649090. 2
92090649091. 3
92090649092. 4

Question Number : 73 Question Id : 92090612430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sferfigat = et s =1 Fafom FHifso

(A) =iy

(B) dtegEuRE
(C) wrefs
(D) "
(E) =mm=m

Frerferfiaa fasredi & 7 3 S

(1) (B), (O), (A), (D), (E) (2) (A), (D), (E), (C), (B)
(3)  (E), (B), (C), (D), (A) (4) (O), (D), (E), (B), (A)

Options :
92090649089. 1



92090649090. 2
92090649091. 3
92090649092. 4

Question Number : 73 Question Id : 92090612430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IafumH-fuRom -
A UGS

B. WIGUHIGH:
C. WAL

D. HEIaT:

E. dNER:

Fafaadsena: T v 99+ faam
1. B-C-A-D-E
2 ASD-FSCaR
3 E-B-EoD-&

4. C-D-E-B-A
Options :
92090649089. 1
92090649090. 2
92090649091. 3
92090649092. 4

Question Number : 74 Question Id : 92090612431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the books of SHUBHAYAPTACHARYA'S TRANSLATED IN “Bhota” language.
(A) Shrutipariksha

(B) Ishvarabhangakarika

(C) Sarvagvasiddhikarika

() Bahyarthasiddhikarika

(E) Apochavicharakarika

Choose the correct answer from the options given below :

(1) (B), (C), (D). (E). (A)
(2) (C), (D), (A), (E). (B)
(3) (A, (B), (C), (D). (E)

(4) (E). (D), (C), (B). (A)

Options :

92090649093. 1
92090649094. 2
92090649095. 3
92090649096. 4

Question Number : 74 Question Id : 92090612431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHTATEE % Wiewm ® sHfen ueui @ e Faifa fifs
(A) et
(B)  Fravrsni
(C) wd=faf g
(D) ameEmeifafgeTiEs
(E)  Frarzfeeamerries

freferfiga foredi & v 370 =4

(1) (B), (©), (D), (E), (&) (2) (C), (D), (A), (E), (B)
(3) @), (B), (C), (D), (E) (4) (E), (D), (C), (B), (A)

Options :
92090649093. 1



92090649094. 2
92090649095. 3
92090649096. 4

Question Number : 74 Question Id : 92090612431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIeUNHfGaHT QU ErErain Tl daFyRm—
A yfdodien

B. SHRHUFHINGI

C. TAAIHISHINDI

D. wRHRGHRS

E. IUEEaRSIRDT

FaftEafdea: Tafaas It 944 had ;

1. B-C-D-E-A
2. C-D-A-E-B
3. A-B-C-D-E

4. E-D-C-B-A
Options :
92090649093. 1
92090649094. 2
92090649095. 3
92090649096. 4

Question Number : 75 Question Id : 92090612432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrangement of various types of knowlodge as per Sautrantika’s opinion
(A) Savikalp Gyan

(B) Apoha-pravritta-Gyan

(C) Samyag Gyan

(D) Nirvikalpa Gyan

(E) Vastupravritta Gyan

Choose the correct answer from the options given below :

(1) (A), B), (C), (D), (E)
(2) (E), (B). (D), (C), V)
(3) (D), (A), (E), (B), (C)

Options :

92090649097. 1
92090649098. 2
92090649099. 3
92090649100. 4

Question Number : 75 Question Id : 92090612432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hrarf=res e fafausei = @ Fefa fif

(A) ofewers 79
(B) 3 ¥gW FH
(€) T=rEH

(D) fifdwe 3=
(E) a% Y99 IH

Pretferfign feedi & adl 9ot 94

(1) @A), (B), (C), (D), (E) (2) (E), (B), (D), (C), (A)
(3) (D), (A), (E), (B). (C) (4) (B), (D), (C), (A), (E)
Options :

92090649097. 1
92090649098. 2



92090649099. 3
92090649100. 4

Question Number : 75 Question Id : 92090612432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e AT safFRegon] —

A, HidhegmyHy

B. UIG-UIU-FHH

C. TEHFEH

D. FidswssAg

E. d¥uguy

Fafaradfdseng: Tafuass IO 994 fhadH :

1. A-B-C-D-E
2. E-B-D-C-A
3. D-A-E-B-C
4 B-D-C-A-E

Options :

92090649097. 1
92090649098. 2
92090649099. 3
92090649100. 4

Question Number : 76 Question Id : 92090612433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrangement of order of “Pratyakshabheda” in “Sautrautikagyvanamiansa”.
(A) Svasamvedana Pratyaksha

(B) Manasa Pratyaksha

(C) Yogi Pratyaksha

(D Indriva Pratyvaksha

(E) Pratyakshabhedas

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E)
(2) (E), (C), (D), (B), (A)
(3) (D). (B), (A), (C), (E)
(4) (B), (C), (D), (E), (A)
Options :
92090649101. 1
92090649102. 2

92090649103. 3
92090649104. 4

Question Number : 76 Question Id : 92090612433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt Fdmm o gerael # s Ruifa Hifa:
(A) TEHIEA ToIE
(B) WHE TeIH
(C) =it gere
(L) I T
(E) wreg

Freferfiad faserdi & 5 3 4
(1) (@A), ®), ©), D), (B) @ (B), (©), (D), (B), (A)
(3) (D), (B), (A), (O), (E) (4) (B), (C), (D), (E), (A)

Options :
92090649101. 1



92090649102. 2
92090649103. 3
92090649104. 4

Question Number : 76 Question Id : 92090612433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEIaaHEER ThameH HaHRue —
A, WHdGATTET

B. WFHEWHAH

C. diMudsay

D. Ifsauaam

E. Ud&war

Fafafaafdse: gHHTgw kg —

4. B-C-D-E-A

Options :

92090649101. 1
92090649102. 2
92090649103. 3
92090649104. 4

Question Number : 77 Question Id : 92090612434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many types of expounders are there in the opinion of “vigyanavadis”. Arrange
them in an order:

(A) Agamanuyayin

(B) Yukti-anuyayin

(C) Satyakara vadis

(D) Mithyakara vadis

(E) There Vigvanavadis

Choose the correct answer from the options given below :

(L) (E). (B, (D), (C). (A)
(2) (A (B, (C), (D). (E)
(3) (D). (C), (B), (A), (E)

(4) (B), D), (C), (E), (A)

Options :

92090649105. 1
92090649106. 2
92090649107. 3
92090649108. 4

Question Number : 77 Question Id : 92090612434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
festranfeai = wa # =nfeai 1 s = Faion Hifs:

(A) TR

(B) FfE - e
(C) BT
(D) foemmrEd
(E) 3 fasmad

Frrferfia feredi @ T 3ot i :

() (E), (B), (D), (C), (A) (Z) (A), (B), (C), (D), (E)
(3) (D), (C), (B), (A), (E) (4) (B), (D), (C), (E), (A)

Options :



92090649105. 1
92090649106. 2
92090649107. 3
92090649108. 4

Question Number : 77 Question Id : 92090612434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

famrardi=i w1 Siafduarie: safuikom
A SATTHRIIE:

B. Y- 3aIa:

C. HAPRaAle:

D. fraREET:

E. fagmHarid:
fFafei@atasea: afay st fagd —

i: BBl
SO T FE e T -
§ DB-E-B-A-E
4: B=D=C=E=n

Options :

92090649105. 1
92090649106. 2
92090649107. 3
92090649108. 4

Question Number : 78 Question Id : 92090612435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following books of “Mahayana™

(A) Lalitavistara

(B) Lankavatara

(C) Suwarna prabhasa

() Gandavyuha

(E) Saddharma pundarika

Choose the correct answer from the options given below :

(1) (A), (B), (C). (D), (E)
(2) (B), (D), (E), (4), (C)
(3) (E), (A), (B), (C), (D)
(4) (D), (B), (A), (E), (C)
Options :
92090649109. 1
92090649110. 2

92090649111. 3
92090649112. 4

Question Number : 78 Question Id : 92090612435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR T % U] & A fAuiie Hifae-

(A) wAferat=Eat
(B) wFMEAR
(C) gavgwE

(D) TvEegE
(E) wguqueis

Frferfiga fasreai | v 3o 94

(1) (A), (B), (C), (D), (E) (2) (B), (D), (E), (A), (C)
(3)  (E), (A), (B), (C), (D) (4) (D), (B), (A), (E), (C)

Options :
92090649109. 1



92090649110. 2
92090649111. 3
92090649112. 4

Question Number : 78 Question Id : 92090612435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEFURARTT: FTH AR —

A dferdidE:

B. WgMEAR:

C. gauigum:

D. TUSFHC:

E. UsHyrsis:

FrafRaadsea: T g —

1. A-B-C-D-E
2. B-D-E-A-C
3. E-A-B-C-D
4. D-B-A-E-C

Options :

92090649109. 1
92090649110. 2
92090649111. 3
92090649112. 4

Question Number : 79 Question Id : 92090612436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the creation based on “Pramanamimansa” of Acharya Dingnaga :
(A) Pramanasamuchchava

(B) Nyvavapravesha (Pramanashastra)

(C) Nyayamukha

(D) Hetuchakradamaru

(E) Vadaprakaranam

Choose the correct answer from the options given below :

(1) (E), (B), (D). (A), (E)
(2) (C), (D), (B), (E), (A)

(3) (A, (B), (O), (D), (E)
(4) (B), (D), (E), (A), (C)
Options :
92090649113. 1
92090649114. 2

92090649115. 3
92090649116. 4

Question Number : 79 Question Id : 92090612436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s fegam i yemorfmETEs Hiaal w5 s i fifge-

(A)  wHMTEHI=EY

(B) =Taween (WHTOTITES )
(C) =mrHE

(D) EgTheHE

(E) drea=tm

Freferfian faereti & T 0 4

(1) (E), (B), (D), (A), (C) (2) (C), (D), (B), (E), (A)
(3) (&), (B), (C), (D), (E) (4) (B), (D), (E), (A), (C)
Options :

92090649113. 1

92090649114. 2



92090649115. 3
92090649116. 4

Question Number : 79 Question Id : 92090612436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

redie g T YRV HRTIRS Pl AT —
A THIUH=Y:

B. UAWdY (WHIVIIAH)

C. OHgE:

D. BduUsher

E. dIGUDIUH

FratcRgaias eng: Ty fd —

1. E-B-D-A-C
2. C-D-B-E-A
3. A-B-C-D-E
4. B-D-E-A-C

Options :

92090649113. 1
92090649114. 2
92090649115. 3
92090649116. 4

Question Number : 80 Question Id : 92090612437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : The life of this world is full of pain.

Statement 11 : There is a reason of this pain.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement [ and Statement Il are false

(3) Statement 1 1s true but Statement 11 1s false
(4) Statement 1 15 false but Statement 11 1s true
Options :

92090649117. 1
92090649118. 2
92090649119. 3
92090649120. 4

Question Number : 80 Question Id : 92090612437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frferfiga <1 +em -

HYA (1) : 39 G991 1 Sfaq g@ & gfego 2
FUA (1) : 29 3@ %1 A faaae 2

I g1 HUAl % el | Frfafiad fawed @ wd 3w =4

(1) = (1) 3 weE (1) §91 9 2 |
(2)  FEF (1) 31 F2= (1) g1 359 8 |
(3) =¥ ()T 2 g =ua (1) 39e 2
(4) A () 39 2 e =99 (1) 93 2
Options :
92090649117. 1
92090649118. 2

92090649119. 3
92090649120. 4



Question Number : 80 Question Id : 92090612437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafafEd § U &
PYT | ;MW YR ilg- §:@- ggian]|
FUAH I ;I §EY HRY [GEd|
FafafEdfdsena: Tafdmedd 9o+ fhaar :
1. ®YEHISYEH I E 0 I
2. ®YEH I HYEH I E g U el
3. HUTH | HIH I 3T

4. HYTH | T I IH

Options :

92090649117. 1
92090649118. 2
92090649119. 3
92090649120. 4

Question Number : 81 Question Id : 92090612438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ : Acharya Miaitreya is not an “Acharya” of “Vigyanavada”.

Statement IT : The books of Acharya Maitreya are written in Sanskrit language.
In the light of the above statements, choose the correct answer from the options given below :

(1 Both Statement I and Statement II are true
(2) Both Statement | and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true



Options :

92090649121. 1
92090649122. 2
92090649123. 3
92090649124. 4

Question Number : 81 Question Id : 92090612438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frferfiaa 21 wem 2-

e (1) : 3merd B fasmmar % e 98 2 |
®Ud (1) :  T=E B39 o 0 G WH H & |

I GHT HYA F e J Frefefiad fawed 1 w4 3w T+

(1) A (1) 3 %e= (1) g+ ae3 2 |
(2)  HyF () 3 F5A (1) 1 3759 7 |
(3) A (1) g9 2 g 59 (1) 393 8 |
@) FWDHymaifemsm DT

Options :

92090649121. 1
92090649122. 2
92090649123. 3
92090649124. 4

Question Number : 81 Question Id : 92090612438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fraferiEd § Y &
FYAH | ;. HEEEET: fAgHaew S |
YA Il ;SR T YT SRGauTEi ||
FafRgdiaseng: Tafds g 9g- g :
1. HYH I HYEHE I 9§ U TA
2. BYTHIHYEH I T g 3T A

3. HUH | I Il 3R,

4. DYUTH | HHTH || §IH
Options :
92090649121. 1
92090649122. 2
92090649123. 3
92090649124. 4

Question Number : 82 Question Id : 92090612439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : “Shunyavada” is related with “Pratityasamutpada”

Statement IT  : “Shunvavada” is related with “Yogachara”.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [l are true

(2) Both Statement I and Statement [l are false

(3) Statement I is true but Statement 11 is false
(4) Statement [ is false but Statement 11 is true
Options :

92090649125. 1
92090649126. 2
92090649127. 3
92090649128. 4



Question Number : 82 Question Id : 92090612439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=feafiaa 21 e 8-

FA (D) : I=ETE 3R A eI e 2
F2A (1D) : IS 1 T AER H 2 |

IR gH1 Ui % e | Fefafaa fawmeni @ adt 3w =4
(1) &Y= (1) 3 & (1) 41 79 2 |

(2)  HUA (1) 3 Fe= (1) g1 35w 2 |

(3) =eA () a2 feg swa (1) saa 2

(4) A () 39 2 g 9= (1) 93 21

Options :
92090649125. 1
92090649126. 2

92090649127. 3
92090649128. 4

Question Number : 82 Question Id : 92090612439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafiad § HY &
FUTH | ;. HAGH WagdIGA 98 SIS
YA Il YGRS G TR0 Hg I |
Fafaea g gafdsead 99+ fhaam :

1. BYEH I FYEH I U Ed

2. BYH | HYEH I 9 § 34U ad

3. TYEH | O Il 3

4, HUAH | AT || T

Options :

92090649125. 1
92090649126. 2
92090649127. 3



92090649128. 4

Question Number : 83 Question Id : 92090612440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : All those religions in this world are produced by “Hetu”

Statement II  : “Awvidya” and “Pragya” religions are antithetical to each other.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true

(2) Both Statement I and Statement I are false

(3) Statement I is true but Statement 11 is false
(4) Statement I is false but Statement Il is true
Options :

92090649129. 1
92090649130. 2
92090649131. 3
92090649132. 4

Question Number : 83 Question Id : 92090612440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frferfian 21 %em 2-

F (D) : WamMAfm gl a g dga = gu 2|
FUF (1D :  wfen 3 s gwem o o 2

I SHT HeHl & et § fafefiga fawed @ wd 3@ -
(1) A (D) AR Fe[ (D EHI FF 2 |

(2)  FUA (I) 3 F9= (1) 41 3rmg 2 |

(3) @A () g 2 g sem (1) e 2

(4) A (1) 39 2 fohg Faa (1) 53 2 |



Options :

92090649129. 1
92090649130. 2
92090649131. 3
92090649132. 4

Question Number : 83 Question Id : 92090612440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrafifEd § oy &
U | ;e oia 3 ek gl | g SO
FYH I ;. HIET U T R SRITEEH] I: |
Frafafaa ffea: Safas e g+ fbhaan -

1. ®YEH IS § A0 I

2. FYEH | HYEH I E § 3 el

3. HYAH | T Il 3R

4. HUTH | IR I T

Options :

92090649129. 1
92090649130. 2
92090649131. 3
92090649132. 4

Question Number : 84 Question Id : 92090612441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Lord Buddha gave first sermon at Bodhagaya.

Statement II  : Lord Buddha gave first sermon at Mrigadava.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [I are true
(2) Both Statement [ and Statement 11 are false
(3) Statement 1 1s true but Statement 11 1s false

(4) Statement 1 1s false but Statement 11 1s true

Options :

92090649133. 1
92090649134. 2
92090649135. 3
92090649136. 4

Question Number : 84 Question Id : 92090612441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefiaa 21 %em 2-

wed ([) ;WA g A WU gHIGI araEr J e |
wUq (1) . wEH g2 7 yyy gHben gieE § faan
I G HYA1 & HAielrh H Fefafiad fawed | w4 3w T4

(1) = (1) 3 %= (1) 2 99 2 |
(2)  FuF (1) 31 F2A (1) g1 71599 2 |
(3) = ()T 2 e wum (10) s19e 21
(1) A (1) 3= & g %99 (1) 993 21
Options :
92090649133. 1
92090649134 2

92090649135. 3
92090649136. 4



Question Number : 84 Question Id : 92090612441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafdiEd § $UA &
U | WA g5 YU Yriues! SRR HER|
YA Il : YA g5 WYH YHiSR GIEH S
Fofafaa fasda: gafas oo 99+ fhgam :

1. HYEH I BYEH I g U ad

2. BYH | HYH I 9 § 34U

3. TUH | OTH I 3T

4. HUTH | ST I TH

Options :

92090649133. 1
92090649134. 2
92090649135. 3
92090649136. 4

Question Number : 85 Question Id : 92090612442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following two has no relation with philosophy contemporary to Buddha?
(A) Puranakashyapa
(B) Mahakashyapa
(C) Ajitakeshakambala
(D) Sanjayabelatthiputta
(E) Ananda
Choose the correct answer from the options given below :

(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (B) and (E) Only

(4) (C) and (D) Only



Options :

92090649137. 1
92090649138. 2
92090649139. 3
92090649140. 4

Question Number : 85 Question Id : 92090612442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa @ @ fa < & w92 wefi 3= geifaen 8 36 27

(A) TUHIEY

(B) WETHITAT

(C) HfFaRIHEe F
(D) HeEaetesTd =
(E) 3= &

Frafafaa e 4 9 w8 33 =1 =33 =)

(1)  F== (A), (B) (2) F== (B), (C)
(3)  Faa (B), (B) (1) Fa« (C), (D)

Options :

92090649137. 1
92090649138. 2
92090649139. 3
92090649140. 4

Question Number : 85 Question Id : 92090612442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A RUSEIHE
B. H®AuH
C. NdhIHHETE
D. WeESTizIaH
E. H=<d
FafafEafas e vt e 9=y fogary -
1. $daqA-B
2. $AaqB-C
3. HdaHB-E
4. HAHC-D
Options :

92090649137. 1
92090649138. 2
92090649139. 3
92090649140. 4

Question Number : 86 Question Id : 92090612443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which two of the followings are related with “Arvastang Marg™?
(A) Samyak Sankalp

{B) Samyak Chintanam

(C) Samyak Vak

(I Samyak Mana

(E) Samyak Gvanam

Choose the correct answer from the options given below :

(1} (B) and (A) Only
(2) (A) and (C) Only
(3 (D) and (E) Only

(4) (B) and (D) Only



Options :

92090649141. 1
92090649142. 2
92090649143. 3
92090649144. 4

Question Number : 86 Question Id : 92090612443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefiga @ & fea g1 =1 Ty sroifes Arl 4 27

(A) HRIF Hohed
(B) T fom
(C) =% 9%
(D) o= T
(E) @& 5H

Frafefiga fawes 4 8 9d 33 &1 939 &1

(1) =ad (B), (A) (2) = (A), (C)
(3) wEd (D), (K) (4) Fad (B), (D)
Options :

92090649141. 1
92090649142. 2
92090649143. 3
92090649144. 4

Question Number : 86 Question Id : 92090612443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prgfifeay S0 g0 a: EETIT g e

A IR U

B I F

C UHPdP

D. 9P U

E. IHA$IH

Fafafaafdsana: i S 9g+ forgam
1. HdaHB-A
2. HAaqA-C
3. ®duaiD-E
4. $AAHB-D

Options :

92090649141. 1
92090649142. 2
92090649143. 3
92090649144. 4

Question Number : 87 Question Id : 92090612444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which two of the following are not counted among “Bhava Chakra™?
(A) Avidya

(B) Sanskara

(C) Gyanam

(D) Vigyanam

(E) Darshanam

Choose the correct answer from the options given below :

(1) (D) and (E) Only
(2) (B) and (C) Only
(3) (A) and (B) Only

(4) (C) and (E) Only



Options :

92090649145. 1
92090649146. 2
92090649147. 3
92090649148. 4

Question Number : 87 Question Id : 92090612444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fara g1 1 afororn grew v § 8 2 -

(A) sifern
(B) €&
(Cy M
(D) fa=m
(E) ==F

frafafigs fawen d 3 g8 33 =1 999 =1

(1) &= (D), (E) (2) =4 (B), (O)
(3)  @aEE (A), (B) (4) Haa (0), (E)

Options :

92090649145. 1
92090649146. 2
92090649147. 3
92090649148. 4

Question Number : 87 Question Id : 92090612444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 3fden

B. I@IR:

C ¥HH

D. MY

E. &% H

FafaEaaE . gHEE e 90+ gy
1. HaaqD-E
2. SaayB-C
3. HdaqA-B
4. HaaHC-E

Options :

92090649145. 1
92090649146. 2
92090649147. 3
92090649148. 4

Question Number : 88 Question Id : 92090612445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which are not in “Mahayana™?

(A) Saddharmapundarikasutram

(B) Khuddakapatha

(C) Suttanipata

(D) Gandavyuhasutram

(E) Pragyvaparamitasutram

Choose the correct answer from the options given below :

(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (C) and (D) Only

{4) (D) and (E) Only

Options :



92090649149. 1
92090649150. 2
92090649151. 3
92090649152. 4

Question Number : 88 Question Id : 92090612445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafofiaa 4 & & 4 vemmE 76 27

(A) AUl
(B) WEHFIR

(C) gafmE

(D) "SR
(E)  wemamfiargE

Frafafiga fawea § @ a8 390 &1 999 &1

(1) ad (A), (B) (2) e (B), (C)
(3)  =mEa (C), (D) (1) Haa (D), (E)

Options :

92090649149. 1
92090649150. 2
92090649151. 3
92090649152. 4

Question Number : 88 Question Id : 92090612445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafaEdy & TemH @ 9 -2

A SeHQUSHHEA

B. Wedhuls
C. gdf-ur:
D. WS
E. VURMEGREH
Faffadidecda: T Sued 99+ fohgam
1. PaaqdA-B
2. $daHB-C
3. $daHC-D
4. SHaaqD-E
Options :

92090649149. 1
92090649150. 2
92090649151. 3
92090649152. 4

Question Number : 89 Question Id : 92090612446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which two are not counted among “Dashabhumi™?

(A) Mudita

(B) Vimala

(C) Kamala

(D) Amala

(E) Sujala

Choose the correct answer from the options given below :

(1) (D) and (E) Only
{2) (C) and (D) Only
(3) (A) and (D) Only

(4) (A) and (C) Only



Options :

92090649153. 1
92090649154. 2
92090649155. 3
92090649156. 4

Question Number : 89 Question Id : 92090612446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
cavfiE # faaeh wiomorn 2-

(A) E[ﬁ?"
(B) famen
(C) el

(D) 3He

(E) gefe

frfefiaa fasedl 4 @ wdt 30 %1 =57 H1|

(1) &= (D) 31 (E) (2) HEa (C) 31 (D)
(3) = (A) 3R (B) (4) <Hae (A) 3T (C)

Options :

92090649153. 1
92090649154. 2
92090649155. 3
92090649156. 4

Question Number : 89 Question Id : 92090612446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Hia

B. Tomem

C. HH

D. 3Hel

E. oral

Fafiradfas ng: wH-e v 994 feaam :
1. hdaq D-E
2. @A C-D
3. $daqA-B
4., PAaHA-C

Options :

92090649153. 1
92090649154. 2
92090649155. 3
92090649156. 4

Question Number : 90 Question Id : 92090612447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of two are related with “Mahayana™?

(A) Vigyanavada

(B) Syadvada

(C) Khyativada

(D) Vivartavada

(E) Shunyavada

Choose the correct answer from the options given below :

(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (C) and (D) Only

(4) (A) and (E) Only



Options :

92090649157. 1
92090649158. 2
92090649159. 3
92090649160. 4

Question Number : 90 Question Id : 92090612447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fo 3 = g wEEE g9 E &7
(A) fagmar
(B) wieER
(C) wfraTg
(D) faaram
(E) IEr

Frafafiga fawes § 9 g8 3 &1 939+

(1) ==Ed (A), (B) (2) e (B), (C)

(3)  =Hae (0), (D) (4) &aFa (A). (E)

Options :

92090649157. 1
92090649158. 2
92090649159. 3
92090649160. 4

Question Number : 90 Question Id : 92090612447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafiady &4 gal: Te: HgF- 9g JHf?

A fagrare:

B. WIglG:

c. EHfdar:

D. faadam:

E. YHdlR:

Fofafaafasang: i S 9g+ fegam
1. $HdaqA-B
2. $AaqB-C
3. $daHC-D
4. PAOHA-E

Options :

92090649157. 1
92090649158. 2
92090649159. 3
92090649160. 4

Question Number : 91 Question Id : 92090612448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which two “Acharyas” are not “Vigyanavadis™?
(A) Nagarjuna
(B) Dharmakirti
(C) Maitreya
(D) Asanga
(E) Vasubandhu

Choose the correct answer from the options given below :

(1) (B) and (C) Only
(2) (C) and (D) Only
(3) (A) and (B) Only

(49) (B) and (E) Only

Options :



92090649161. 1
92090649162. 2
92090649163. 3
92090649164. 4

Question Number : 91 Question Id : 92090612448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FH aEE fasrard 7@ #-
(A) TSR
(B) weehifd
(C)
(D)  3mEm

(E) =gsg

Tr=fefiaa fasmedi 4 | 981 3 &1 994 Hi |

(1) %@ (B), (O) (2) %4 (C), (D)
(3)  wEd (A), (B) (4) waa (B), (E)
Options :

92090649161. 1
92090649162. 2
92090649163. 3
92090649164. 4

Question Number : 91 Question Id : 92090612448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, AT

B. eI

c. T

D. HE:

E. dga

FafaiEaidseg: g Faed =g+ g :
1. $aafB-C
2. SdaqC-D
3. HdaA-B
4. HAAHB-E

Options :

92090649161. 1
92090649162. 2
92090649163. 3
92090649164. 4

Question Number : 92 Question Id : 92090612449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

List I List IT
(A) Ashvaghosha (I) Madhyamaka Shastram
(B) Dingnaga (II) Nyayabindu
(C)  Dharamakirti {
(D) Nagarjuna (

IITI) Nyayapravesha
IV) Buddhacharitam

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(I1L), (C)-(II), (D)-(I)
(2) (A)-(D). (B)-(II), (C)-(11L), (D)-(IV)
(3) (A)-(I1I). (B)-(1I), (C)-(D). (D)-(IV)
(4) (A)-(IT), (B)-(I). (C)-(IV), (D)-(ILI)

Options :
92090649165. 1



92090649166. 2
92090649167. 3
92090649168. 4

Question Number : 92 Question Id : 92090612449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt =1 =t 118 faam #:1)

gt 1 gt 11
(A) Hy=am () T=gFITE
(B) fegam (11) =mafeg
(C) uv=hifd (111) =Trrsea
(D) =R (IV) gg=iEy
Frafafiaa fawea § @ o 390 =1 =99 +i:

(1) (A)-(IV), (B)-(11D), (C)-(1I), (D)-(I)
(2)  (A)-), (B)-(1), (C)-(11D), (D)-(IV)
(3)  (A)-(IID), (B)-(11), (C)~(I), (D)-(IV)
(4)  (A)-(ID), (B)-(I), (C)-(IV), (D)-(11I)

Options :

92090649165. 1
92090649166. 2
92090649167. 3
92090649168. 4

Question Number : 92 Question Id : 92090612449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| T 1l g difernal: Yaey fhaany :
G| il
(A) | 3rsydms: (I) | AOASAEH
(B) | fagm: () | grafag:
(C) | epfpifd: | () | rEyE:
(D) |FFTefR: | (V) | SgaRan
Fafafgadsana: wgihaq I agd —
1 (AIV): (B)AI); (C)=(I); (DHI)
2. (A1) (BY(I); (T (D)HIV)
3. (A(I; (B)=(l); (C)H1); (D)HIV)
4. (A (BT (CHIV); (D))

Options :

92090649165. 1
92090649166. 2
92090649167. 3
92090649168. 4

Question Number : 93 Question Id : 92090612450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List I1
(A) Panchanidanam (I) Sparsha
(B) Shashthanidanam (Il Trishna
(C) Saptanidanam (III} Shadavatanam
(D)  Ashtanidanam (IV) Vedana

Choose the correct answer from the options given below :
1) A)-(I). (B)-(I0), (C)-(I1L), (D)-(IV)
2) A)-(I1I), (B)-(I), (C)-(IV), (D)-(IT)

( (
( (
(3) (A4)-(IT), (B)-(1ID), (C)-(IV), (D)-(I)
(4) (A)-(I1D), (B)-(IV), (C)-(I). (D)~(1I)

Options :



92090649169. 1
92090649170. 2
92090649171. 3
92090649172. 4

Question Number : 93 Question Id : 92090612450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 11 gt 118 faem =+

T 1 il
(A) wafemy () =t
(B) wefierm (1) oom
(C) weafigry (I11) wERa
(D) 3efaemy (IV) &e
frerfefias femreat 4 | g8t 3w =1 =99 +i

(1)  (A)-(D, (B)-(1I), (C)-(111), (D)-(IV)
(2)  (A)-(1D), (B)-(I), (C)-(IV), (D)-(II)
(3)  (A)-(1D), (B)-(111), (C)-(IV), (D)-(I)
(1) (A1), (B)-(IV), (C)-(I), (D)-(II)

Options :

92090649169. 1
92090649170. 2
92090649171. 3
92090649172. 4

Question Number : 93 Question Id : 92090612450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| qUT 11 g4t difersal: FHe- fobaany :
gl g
(A) |ugtfigrEm | (1) | e
(B) | wBferF® | (1) | qgwm
(C) | uwfery | () | wSmaw
(D) |sipfEre | (V) | de
Frafaraafdsea: Ty I fagd —
1. (A); (B)=(I); (C)(I); (D)(IV)
2. (A (B)(1): (CHIV): (D)HN)
3. (AI): (B (CHIV): (DHI)
4. (AN (B)(IV); (CHI); (D)

Options :

92090649169. 1
92090649170. 2
92090649171. 3
92090649172. 4

Question Number : 94 Question Id : 92090612451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T ;

List I List 1T
(A) First Path (I} Samyak Karmantam
(B) Second Path (II) Samyak Vak
(Cy Third Path (IIT) Samyak Sankalpa
(D} Fourth Path (IV) Samyak Drishti

Choose the correct answer from the options given below :

(1) (4)-(I1L), (B)-(IV), (O)-(1). (D)-(II)
(2) (4)-(I), (B)-(II), (C)-(11L), (D)-(IV)
(3) (A)-(IL), (B)-(11L), (C)-(IV), (D)-(D)
(4) (A)-(IV), (B)-(111), (C)-(ID), (D)-(I)

Options :



92090649173. 1
92090649174. 2
92090649175. 3
92090649176. 4

Question Number : 94 Question Id : 92090612451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1% gt 118 faem +:1)

g 1 gt 11
(A) veen =7l (1) weHwHa
(B) gga A7 (1) ErgHaT
(C) e qn (111) 5= Hehey
(D) e Hr (IV) "= e
Fr=fefias e 9 9 98 3 &1 999 +i:

(1) (A1), (B)-(IV), (C)-(I), (D)-(IT)
(2) (A, (B)-(II), (C)-(I11), (D)-(IV)
(3)  (A)-(ID), (B)-(IID), (C)-(IV), (D)~(I)
4y (N)-(IV), (B)-(11D), (C)-(1D), (D)-(1)

Options :

92090649173. 1
92090649174. 2
92090649175. 3
92090649176. 4

Question Number : 94 Question Id : 92090612451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| U111 g4t difersal: GHe-TH fohddn :

- i
(A) | TR () | s Sl
(B) | facfiammt: | (1) | o a1
(C) | gefimmmt: | () | T O$ Ggod:
(D) | Tgdmrt: | (V) | T =P
[Frfeiadids edg: Fgfeay I Hgd —

1. (AN (B)=(IV): (C)(1): (D)(I)

2. (A1) (B (C)Hl): (DH1V)

3. (A B (CHIV) (D)

4. (AH(IV); (By=(1); (Cy(I): (D)
Options :

92090649173. 1
92090649174. 2
92090649175. 3
92090649176. 4

Question Number : 95 Question Id : 92090612452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List IT
(A) First Sangiti (I}  Vaishali
(B) Second Sangiti (Il Rajagriha
(C) Third Sangiti (I} Kundalavanavihara
(D) Fourth Sangiti (IV) Pataliputra

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I1I), (C)-(I), (D)-(1I)

(2) (A)-(I), (B)-(II), (C)-(111), (D)-(IV)

(3) (A)-(IT), (B)-(I), (C)-(IV), (D)-(ILI)

(4) (A)-(IV), (B)-(I1I), (C)-(1IL), (D)-(I)
Options :

92090649177. 1



92090649178. 2
92090649179. 3
92090649180. 4

Question Number : 95 Question Id : 92090612452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl 11 gt 113 faem =1

ot 1 Tt 11
(A) wum Tt (I) 3wt
(B) fedra afifa (I) T2
(C) g =fif (111) Freera fam
(D) =gd =ifs (IV) "referga
Frfeafias famreai 9 8 ot 37 =1 =99+

(1) (A)-IV), (B)-(11D), (C)-1), (D)-(I)
(2)  (A)-D, (B)-(1D), (C)-(I1D), (D)-(IV)
(3)  (A)-(ID), (B)-(I), (C)-(IV), (D)-(I1L)
(1) (A)-(D), (B)-(IID), (C)-(II), (D)-(IV)

Options :

92090649177. 1
92090649178. 2
92090649179. 3
92090649180. 4

Question Number : 95 Question Id : 92090612452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| T || gk cferpdl: GHaA fhadr :
G-I il
(A) |vuFggifa: | () | D=t
(B) | fecitoargifca: | () | IorEy
(C) | geitgagifa: | () | PUSHa-ldery
(D) | Tgdugifa: | (V) | refigm
Frafafaafdsea: gt Iavy 9a- fFgan] —
1 (A(IV): (B)(H); (Cy=(1): (D))
2. (A1) (BY=(IN) (C)=(I): (D)(IV)
3. (A(I: (BY(1): (CH(IV): (D))
4. (AIV); (B)=(lIT); (C)=(I); (D)=(1)

Options :

92090649177. 1
92090649178. 2
92090649179. 3
92090649180. 4

Question Number : 96 Question Id : 92090612453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List 1 List II
(A) Chakshurindriyvayatanam (I} Gandha
(B) Shrtrendrivayvatanam (I Rasa
(C) Ghranendrivayvatanam (IIT) Rupa
()  Jihvendrivavatanam (IV) Shabda

Choose the correct answer from the options given below :

(1) (A)-(II), (B)-(I11), (C)-(IV), (D)-(D)
(2) (A)-(I1D), (B)-(IV). (C)-(D), (D)~(IT)
(3) (A)-(IV), (B)-(IID), (C)-(II), (D)-(D)
(4) (A)-(1). (B)-(ILI), (C)-(IV), (D)~(II)

Options :



92090649181. 1
92090649182. 2
92090649183. 3
92090649184. 4

Question Number : 96 Question Id : 92090612453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 11 gt 118 faem +:1)

g 1 T 11
(A) =gtz s () =
(B) #rfzamaa (1) ™
(C) wmofEamm (I1T) =9
(D) o sf=EmA (IV) 7=

freferfaa fawe 4 9 @8t 30 %1 =299 &+

(1)  (A)-(II), (B)-(I11), (C)-(1V), (D)-(T)
(2) (A1), (B)-(IV), (C)-(D), (D)-(1D)
(3)  (A)-1V), (B)-(111), (C)-11), (D)-(D)
(4)  (A)-(1), (B)-(IID, (C)-(IV), (D)-(1T)

Options :

92090649181. 1
92090649182. 2
92090649183. 3
92090649184. 4

Question Number : 96 Question Id : 92090612453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| T 1 g diferRal: e fhadn

| i G-l
(W) | agREmmem () | T

(B) | sf=am@ay | () |

(C) | wuifzamaTy | () | =uy

(D) | forgfsamas | (IV) | 2sa:

Fafcraaiaseg: e e 9o+ fhgan] —

1. (AI); (B)=(l); (CHIV); (D)

2. (AyI); (By=(IV); (CHI); (D))

3. (AHIV); (B)(II); (Cy(1); (D)

4. (A1) (B (CHHIV): (D))
Options :

92090649181. 1
92090649182. 2
92090649183. 3
92090649184. 4

Question Number : 97 Question Id : 92090612454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11 :

List I List I1
(A) First Pratyaksham (Iy  Yogipratyaksham
(B) Second Pratyaksham (I} Swvasamvedanam
(C} Third Pratyvaksham (III) Manasapratyvaksham
(D) Fourth Pratvaksham (IV) Indrivapratyaksham

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(11I), (C)-(II), (D)-(I)

(2) (A)-(I11), (B)-(1D), (C)-(I), (D)-(IV)

(3) (A)-(ID), (B)-(I). (C)-(IV), (D)~(11L)

(4) (A)-(1), (B)-(III), (C)-(IV), (D)~(1ID)
Options :

92090649185. 1



92090649186. 2
92090649187. 3
92090649188. 4

Question Number : 97 Question Id : 92090612454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gt 11 gt 118 faem #1)

il g 11
(A) wEen Teas (D =y
(B) &0 yeas (II) E=dae
(C) e wege (111) FaTeE
(D) =t wege (1V) sfagms
Frferfaa foseal 9 & ad 3w =1 999 *i

(1) (A)-0V), (B)-(11D), (C)-D), (D)-(D)
(2)  (A)-(IID), (B)-ID), (C)-(I), (D)-(IV)
@) (A)-1D), (B)-(D), (C)-(IV), (D)-(ILT)
(4) (A, (B)-(I1D), (C)-(IV), (D)-(1T)

Options :

92090649185. 1
92090649186. 2
92090649187. 3
92090649188. 4

Question Number : 97 Question Id : 92090612454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| T 11 B ifernal: e b

gl LCim|

.(A} TYATIEH () | gifToeey

(B) | fafavmeny | (1) | wHde™

(C) | qdiawmeny | () | WHEvEET

(D) | wgdve | (IV) | sF3avaem

Frafi@diaeena: T Suee g fhaan —
1. (A(IV); (B)-(); (C)-(); (D))

2. (A (B)=(I): (CH1): (DHIV)

3. (Al (B)YH1): (CH(IV): (D)1

4. (A1) (BN (CHIVY); (D)1)
Options :

92090649185. 1
92090649186. 2
92090649187. 3
92090649188. 4

Question Number : 98 Question Id : 92090612455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 ;

List I List IT
(A) Rahula sankrityayana (I Bauddh Religion Philosophy
(B) Dr.Bhimrao Ambedkar (II) History of Pali literature
(C) Acharya Narendra Deva (IIT) Bauddh religion Mimamsa
(D) Baladeva Upadhyaya (IV) History of lord Buddha and his religion

Choose the correct answer from the options given below :

(1) (A)-(IT), (B)-(I), (C)-(I1L), (D)-(IV)

(2) (A)-(IV), (B)-(IT), (C)-(T), (D)-(ILI)

(3) (A)-(IT), (B)-(IV). (C)-(D). (D)-(I1I)

(4) (A)-(I), (B)-(IT), (C)-(IV), (D)-(I1D)
Options :

92090649189. 1



92090649190. 2
92090649191. 3
92090649192. 4

Question Number : 98 Question Id : 92090612455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 11 gt 11 H faem 1)
Tl 1 Tt 11
(A) TEEFHIHERA (I) wrgudes &1 gfaem
(B) = Wina smdee (I1) uiferanfera =1 zfeem
(C) zm=r Fi= 29 (111 Frge™ i
(D) &eTgd I (IV) wrarFgg 3R 3% o sfemm
Fr=afefaa fawea § @ od 33 =1 =99 =i

(1) (A)-(I1D), (B)-(I), (C)-(II), (D)-(IV)
(2)  (A)-(V), (B)-1I), (C)-(D), (D)-(11I)
(3)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(11I)
(4)  (A)-(D), (B)-(1), (C)-AV), (D)-(111)

Options :

92090649189. 1
92090649190. 2
92090649191. 3
92090649192. 4

Question Number : 98 Question Id : 92090612455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| T 1 g aifereRdl: gaaH feadar

il G-l

(A) | UgTTHIG A (1) | diguHeEly

(B) | € YimRma amagsw: | () | ufeafgafdsra:

(C) | smamiR=ea: () | SrgEHHE

(D) | SeTcd-JUTeA: (V) | wiTaa: g5 o yH .

FafaEafdsea: agfoaga g4l

(A)=(I1): (B)=(1): (CH(1); (D(IV)
(A=(IV); (BY(11): (CH(1); (D)(1T)
(A)=(I1); (B)=(IV): (CYH1): (D)—(11)
4. (AH); (BY(1): (CHIV): (D))

e
"

2
3

Options :

92090649189. 1
92090649190. 2
92090649191. 3
92090649192. 4

Question Number : 99 Question Id : 92090612456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who gave the Deshama of “Madhyvama Marga™?

(1) Mankhaligoshal (2) Niganthnath putra
(3 Lord Buddha (4) Sanjay Velathiputta
Options :

92090649193. 1
92090649194. 2
92090649195. 3
92090649196. 4

Question Number : 99 Question Id : 92090612456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qeqq q il o9 faeme & 39 AW 2-

(1) wEfermETs (2) frmzrege
(3) wTEH gE (4) T A=Az
Options :

92090649193. 1
92090649194. 2
92090649195. 3
92090649196. 4

Question Number : 99 Question Id : 92090612456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEAAAN: FAGIGE: o= A1 e —
1. H@feriane:
2. RTUGRIGE:
3. WEF g
4. ToOAQizEH:
Options :

92090649193. 1
92090649194. 2
92090649195. 3
92090649196. 4

Question Number : 100 Question Id : 92090612457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The author of which book is Mokshakaragupta?

(1) Tattvasangraha (2) Panchaskandha
(3) Bauddhatarkabhasha (40 Nyayapravesha
Options :

92090649197. 1
92090649198. 2
92090649199. 3
92090649200. 4



Question Number : 100 Question Id : 92090612457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et T fRg oea % dEe A7

(1) a=ETE (2) 9=hHY
(%) dtzAsum (4) =T e
Options :

92090649197. 1
92090649198. 2
92090649199. 3
92090649200. 4

Question Number : 100 Question Id : 92090612457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIETHU: & J TEhISTEr
1. d@udsd
2. UIERE
3. WlEdeHINAL
4.  OOYAIE
Options :

92090649197. 1
92090649198. 2
92090649199. 3
92090649200. 4



